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The following table shows the percentage of students (Boys and Girls) who have successfully
completed their respective academic programmes, namely, B.A., B.Sc., B.Com., BB.A.,
B.C.A. and B.Tech. in a college. Based on the data in the table, answer the questions 1-5:

Programme-wise Percentage of Successful Students

Programme Boys Girls
B.A. 80% 60%
B.Se. 80% T0%
B.Com. 40% 60%
B.B.A. 90% 60%
B.CA. 70% 80%
B.Tech. 70% 60%

Frfafian aifee 31 Fafifai (as% sit osfr) =1 ofiem goid 8, el o =09 9 S, o9
., dEW, @A, S s fiE T TEEhE e # FeeaEE T 2™
ATl & S| & AR T Usd G 1 8 5 6% & I 41U

e faenfiat =1 sriwy-an gigwm

IR 80% 60%
EiRusr:i 80% 70%
Bl 40% 60%
EiR: R 90% 60%
EIR: RS 0% 80%
Bl 70% 60%

If the number of boys and girls successfully completing the B.A. programme are same, then
what is the ratio between the number of boys to the number of girls in B.A. programme?

(1) 4:3

(2 5:
(3) 4:

=R

(4) 3:4

iz 0. A i AEERTE® [ A T 91 SR CISrRAl i Sed HAE € 6 .0, HEwE § s
1 T i e A T & w S = a

(1) 4:3
(2) 5:3
(3) 4:9
4) 3:4

1[Option ID=20201]
2[Option ID=20202]
3[Option ID=20203]
4[Option ID=20204]
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The following table shows the percentage of students (Boys and Girls) who have successfully
completed their respective academic programmes, namely, B.A, B.Sc., B.Com., BBA.,
B.C.A. and B.Tech. in a college. Based on the data in the table, answer the questions 1-5:

Programme-wise Percentage of Successful Students

Programme Baoys Girls
B.A. 80% 60%
B.Se. 80% T0%
B.Com. 10% 60%
B.B.A. 90% 60%
B.CA. 70% 80%
B.Tech. 70% 60%

frafeifaa afermn 31 B (oes s asfe) = ufewe sufd 2, Sl o wiem o o, &
wEl,, dftEm, @, S st S amE e FEEE F AEeagEs W 3 W
AT o 32| o HTUN W 97T G611 8 5 9% 5 I A

e fenfdEt =1 srwy—an giewm

1.1, B0% 60%
il 80% 70%
B 40% 60%
o, 90% 60%
.4, 70% 80%
EileE 70% 60%

In B.Com, programme, 44% of the total students passed. If total number of boys in B.Com. is
200, then what is the total number of girls in B.Com.?

(1) 50
(2) 52
(3) 66
(4) 60

oA wEEA W e EneEl § @ 44% frEnef wdiv gyt shEw § wsw g e 200 §
st (ft.wW) #§ o ARl f Fe = a T

1) 50
(2) 52
(3) 68
(4) 60

1[Option ID=20205]
2[Option ID=20206]
3[Option ID=20207]
4[Option ID=20208]
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The following table shows the percentage of students (Boys and Girls) who have successfully
completed their respective academic programmes, namely, B.A, B.Sc., B.Com., BBA.,
B.C.A. and B.Tech. in a college. Based on the data in the table, answer the questions 1-5:

Programme-wise Percentage of Successful Students

Programme Baoys Girls
B.A. 80% 60%
B.Se. 80% T0%
B.Com. 10% 60%
B.B.A. 90% 60%
B.CA. 70% 80%
B.Tech. 70% 60%

frafeifaa afermn 31 B (oes s asfe) = ufewe sufd 2, Sl o wiem o o, &
wEl,, dftEm, @, S st S amE e FEEE F AEeagEs W 3 W
AT o 32| o HTUN W 97T G611 8 5 9% 5 I A

e fenfdEt =1 srwy—an giewm

1.1, B0% 60%
il 80% 70%
B 40% 60%
o, 90% 60%
.4, 70% 80%
EileE 70% 60%

If the total number of boys and girls in each programme is 150 and 120, respectively, then
what is the approximate overall pass percentage of the college?

(1) 64%
(2) 69%
(3) 72%
(4) 54%

aft s FEEA § wsh S AsihAl $ He @ HAM: 150 T 120 § O $8 wicid § o a6
Feftol Wi = 27

(1) 64%
(2) 69%
(3) 7%
(4) 5%

1[Option ID=20209]
2[Option ID=20210]
3[Option ID=20211]
4[Option ID=20212]
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The following table shows the percentage of students (Boys and Girls) who have successfully
completed their respective academic programmes, namely, B.A, B.Sc., B.Com., BBA.,
B.C.A. and B.Tech. in a college. Based on the data in the table, answer the questions 1-5:

Programme-wise Percentage of Successful Students

Programme Baoys Girls
B.A. 80% 60%
B.Se. 80% T0%
B.Com. 10% 60%
B.B.A. 90% 60%
B.CA. 70% 80%
B.Tech. 70% 60%

frafeifaa afermn 31 B (oes s asfe) = ufewe sufd 2, Sl o wiem o o, &
wEl,, dftEm, @, S st S amE e FEEE F AEeagEs W 3 W
AT o 32| o HTUN W 97T G611 8 5 9% 5 I A

e fenfdEt =1 srwy—an giewm

1.1, B0% 60%
il 80% 70%
B 40% 60%
o, 90% 60%
.4, 70% 80%
EileE 70% 60%

If the ratio between the number of boys to the number of girls in B.C.A. programme is 4 : 1,
then what is the ratio between the number of boys who have successfully completed B.C.A. to
the number of girls who have successfully completed B.C.A.?

(1 9:4
(2) 9:5
(3) 6:7
(4) 7:2

7z <t +.¢ FEwa | Tt $it Fe i gad § a6 GEa w S 40 12 a5 I
et iRl 1 T i geT | S0, I S JTel SS9 T S ST e

(1) 9:4
(2) 9:5
3) 6:7
(4 7:2

1[Option ID=20213]
2[Option ID=20214]
3[Option ID=20215]
4[Option ID=20216]
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The following table shows the percentage of students (Boys and Girls) who have successfully
completed their respective academic programmes, namely, B.A, B.Sc., B.Com., BBA.,
B.C.A. and B.Tech. in a college. Based on the data in the table, answer the questions 1-5:

Programme-wise Percentage of Successful Students

Programme Baoys Girls
B.A. 80% 60%
B.Se. 80% T0%
B.Com. 10% 60%
B.B.A. 90% 60%
B.CA. 70% 80%
B.Tech. 70% 60%

frafeifaa afermn 31 B (oes s asfe) = ufewe sufd 2, Sl o wiem o o, &
wEl,, dftEm, @, S st S amE e FEEE F AEeagEs W 3 W
AT o 32| o HTUN W 97T G611 8 5 9% 5 I A

e fenfdEt =1 srwy—an giewm

1.1, B0% 60%
il 80% 70%
B 40% 60%
o, 90% 60%
.4, 70% 80%
EileE 70% 60%

If the total number of girls in each academic programme is 90, then what is the total number
of girls who have successfully completed the academic programmes from the college?

1) 321
(2) 331
(3) 351
(4) 245

A AR TFTEEE wEEA § st $1 FE 9 90 B 4 3 Feiwa $ o gen =0 2, e wm
it § STEEE S g R 87

@) 321
(2) 331
(3) 351
(4) 245

1[Option ID=20217]
2[Option ID=20218]
3[Option ID=20219]
4[Option ID=20220]

Sl. No.6
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In Swayamprabha, Video lectures are provided by

(1) DTH Channels

(2) Website www.swayam.gov.in

(3) Website www.inflibnet.ac.in

(4) Doordarshan Channels

Ty (SWAYAMPRABHA) # fafsai =meam fash gm0 sversa s o 7
(1) DTH =8

(2) ﬁﬁ'&'l‘é‘c’ WWW.SWayam.gov.in

(3) F=E152 www.inflibnet.ac.in

4) anﬁiq L

1[Option ID=20221]
2[Option ID=20222]
3[Option ID=20223]
4[Option ID=20224]
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What are the main qualities for a teacher to provide counseling to his/her student having
some mental health issue?

A

Credibility and genuineness

m‘—v

) Being Judgemental
C) Confidentiality
D

Lack of empathy

Choose the most appropriate answer from the options given below :

(1) (A)and (C) only
(2) (A)and (D) only
(3) (B)and (D) only
(a) (&), (B) and (C) only
F@ AHTEE e qRes | giea s frefiE w0 o 3 i o e § w9-8 gem o Ee
=z
(&) T i s
(B)  EiE ot g
(C) T
O) e
Fr fom o fasedi & & G99 I I F T Hifaw
(1) () SR (0)

(2) =t (A) 3R (D)
(3) Fa« (B) s (D)

(a) T (A). (B) I (C)

1[Option ID=20225]
2[Option ID=20226]
3[Option ID=20227]
4[Option ID=20228]

Sl. No.8
QBID:1521008

Which of the following is not a MOOC platform?

(1) SWAYAM

(@ Epx

(3) COURSERA

(4) ePG Pathshala on Inflibnet portal
Fr=fefian # =F-11 T MOOC =ewr 78 87

(1) SWAYAM

(2 Epx
(3) COURSERA

(4) sFHfEeRE dida W ePG wEwTen

1[Option ID=20229]
2[Option ID=20230]
3[Option ID=20231]
4[Option ID=20232]

Sl. No.9
QBID:1521009

Which of the following is NOT a trait of a good teacher?

(1) Full command over the subject

(2) Treating the intellectual ability of all students identically
(3) Alot of preparation and thinking in the subject before taking class

(4)  Effective communication and presentation skills
freferfan # #i7 0 oo Rge & @wo 76 87

(1) T % gt e

(2) =i P 1 e e e =

(3) e o & qd faw A st G o faa

(4) Tt HH R T S




1[Option ID=20233]
2[Option ID=20234]
3[Option ID=20235]
4[Option ID=20236]

Sl. No.10
QBID:1521010

Which of the following is the major objective of education?

(1)  Developing economy

(2) Making students disciplined

(3) Developing inherent abilities/ powers of students
(4) Making students followers of teachers

o # i foven 71 7 e T

(1) s w e

(2) forenfdai =i srqentea s

(3) Toremfidat it w=fifee =maa /o =1 fawfoa F=

(4) Frenfiat =t fmri 1 sgedt wTn

1[Option ID=20237]
2[Option ID=20238]
3[Option ID=20239]
4[Option ID=20240]

Sl. No.11
QBID:1521011

When original participants in a longitudinal study drop out midway, it is called
(1) Experimental distancing
(2) Respondent deviation
(3) Mortality
(4) Sample redundancy
o fereft 17 2 sveaad 3 gt GEEEll wea § Sigw el W &, df 56 e o &
) e g0
(2)  wfEr =
(3) w=
(4) St safemn

1[Option ID=20241]
2[Option ID=20242]
3[Option ID=20243]
4[Option ID=20244]

Sl. No.12
QBID:1521012

Match List I with List 1T

List I List IT
Types of Research Research Purpose

(A)  Applied research (I) Exploration and description of
concepts

(B) Basic research (IT) To focus on ohjective assessment

(C) Quantitative research (ITI) Contribution to knowledge

(D)  Qualitative research (IV) To find practical solutions to everyday
issues

Choose the correet answer from the options given below :

1) (A)-(D. (B)-(ID, (C)-(IV), (D)-(11T)
(2)  (A)-(IV), (B)-(IID), (C)-(IT), (D)-(T)
(3) (A)-(I1D), (B)-(IV), (C)-(I). (D)-(IT)
(4) (A)-(ID. (B)-(D), (O)-(1ID), (D)-(IV)




-1 3% T gt 11 =1 frem it -

Ecin| 11
9 % YR sy =1 329
(A) TIH Ig (I) TFHeTNS F A= S T
(B) STomsE T (1) =TEGE e T A Hgd w
(C) wTEF Ty (I ¥ & FeeA
(D) T Y (V) #f=7 ¥5gi & =qagiisd g w1 wE
ESRIEE
9 fou o ol # | 98 I w1 =9 Fif -

(1) Q- B)-(D. (C)-AV), (D)-(1D

(2) (A)-(IV). (B)-(III). (C)-(IT), (D)-(I)
(3) (A)-(III), (B)-(IV), (C)-(I). (D)-(II)
(a) A)-aD, (B)-(D), (C)-(I), (D)-(IV)
1[Option ID=20245]
2[Option ID=20246]

3[Option ID=20247]
4[Option ID=20248]

Sl. No.13
QBID:1521013

For the selection of samples in research, the snowball sampling method employs
(1) Field workers

(2)  Opinion leaders

(3) Surveyors

(4) Referrals

wirg & ufnge % =2 o, Sieie fees Tg Fefaten # w FwE g

Q) & e

(2) s W

(3)  wdem

(a) stz

1[Option ID=20249]
2[Option ID=20250]
3[Option ID=20251]
4[Option ID=20252]

Sl. No.14

QBID:1521014

Under the Quality Mandate of UGC, the acronym ‘CARE’ stands for
(1) Commission for Academic and Research Ethies

(2) Cantre for Academic Research and Ethics

(3) Consortium for Academic and Research Ethics

(4) Computer-Aided Research and Education
7 it i % o ATET % S qiEei wes FuR (CARE) % faega =9 &
(1) A Fi kel uws fwe ofi
(2) #z wit whifies froe ws ofiem
(3) wiitéan i v ws fed o
4) FF - TS fEd e T

1[Option ID=20253]
2[Option ID=20254]
3[Option ID=20255]
4[Option ID=20256]

Sl. No.15
QBID:1521015

Given below are two statements :

Statement I: In the inductive approach, a theory is generated out of research findings.

Statement I : In the deduective approach, research is done in relation to the hypothesis

drawn from the theory in question.

In the light of the above statements, choosze the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false




(3)  Statement I is true but Statement II is false
(4) Statement [ is false but Statement II is true
e 7 e fw e £
w9 ([): AT I H, s g Ty % e @ e g g
wad (1) : oA 3urm 4, oivg, w9 & iHA g 4 o 78 ofisesn & gay 3 R a2
IHET FOH F A A, 9 B el | 8 ad 3w % =59a fifa
(1) FFIsmIIZAia= s |
(2) F9A 1+ [1FE1 379 £ |
(3) FA 150 2, o w97 [ s@a 21

(4) T 13 R, T F (185 &)

1[Option ID=20257]
2[Option ID=20258]
3[Option ID=20259]
4[Option ID=20260]

Sl. No.16
QBID:1521016

One of the characteristies of oral communication system is that it is
(1) Mediated
(2) Point-to-point

(3)  Impersonal

(4) Noise laden

wiftas Twme 1 o fE T ¢ Tw -
(1) =mEfe (fifsees) a2

(2) fig-mi-fig & &

(3) st 2

(4) I I 2

1[Option ID=20261]
2[Option ID=20262]
3[Option ID=20263]
4[Option ID=20264]

Sl. No.17
QBID:1521017

Which of the following elements are needed for the completion of classroom communication?
(A)  Source
(B)  Noise
(C) Content
(D) Receiver
(E) Feed back
Choose the correct answer from the options given below :
(1) (A), (B) and (C) only
(2) (B), (C) and (D) only
(3) (A), (C), (D) and (E) only
(a) (B).(C), (D) and (E) only

HET U T W o FefeiEd 8§ S qe AEvaE E

(4 @m

(B) ¥

(€) Ty

(D) oA

(B)  wfigi (frsd)

Fr= fqn o faeet & & W I w0 == Hif

(1)  Fa (A), (B) 3 (C)

(2)  F=e (B) (O) 31 (D)
3)




Faa (A), (0), (D) 1 (B)

(4) = (B), (0), (D) =i (E)

1[Option ID=20265]
2[Option ID=20266]
3[Option ID=20267]
4[Option ID=20268]

Sl. No.18
QBID:1521018

Given below are two statements :

Statement I :  More communication means better communieation.

Statement IT: Closely related persons do not have communication needs.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement I1 are true
(2) Both Statement I and Statement II are false
(3)  Statement I is true but Statement 11 is false

(4) Statement I is false but Statement 1T is true
Fr= 7 o g €
g () ;T g9 1 99 A5 JOT 2 |
woA (1) : e & gag safe =t o sraveRar 98w |

I A F A H, G e T fawe § § w39 I =9 i

o Fod [ [IEAT 5e0 £ |

(2) FF 1 & [1 A1 5@ 8 |

(3) FA 1@ 2, dfed Fo 11 o/ 2|
(4) FuA | 3/@ea B, ot e [ 5eg 21

1[Option ID=20269]
2[Option ID=20270]
3[Option ID=20271]
4[Option ID=20272]

Sl. No.19
QBID:1521019

The sequential order of mass communication elements is
(A) Source and encoder

(B) Message

(C)  Medium

(M Decoder

(E) Feed back

Choose the correct answer from the options given below :
(1) (A). (B (C). (D). (E)
(2)  (A). (D), (C), (B), (E)
(3) (A), (C). (B). (E). (D)

(4) (A).(C), (B). (D). (E)




FA-HEIN & ded] H HE FH A

(A)  ® 3 geaaw

(B) ===

() =rem

D) forgz ww

(\)  ufgle (fledeh)

i fou o Tl @ & 98 I = =91 Fifw

1) @.®.©). D). ®

(2) (&), (D), (C), (B). (E)

(3) (A (), (B), (E). (D)

(4) Q). (C), (B), (D). (E)

1[Option ID=20273]
2[Option ID=20274]
3[Option ID=20275]
4[Option ID=20276]

Sl. No.20
QBID:1521020

Match List I with List I :

List I List IT
Sign Category Example
(A) Iconic (I) Language
(B) Indexical (IT) Photographs
(C) Symbolic (I} Smoke
(D) Profusion of signs (IV) Letters of alphabets

Choose the correct answer from the options given below:

(1) (4D, (B)-(III), (C)-(IV), (D)-(T}
(2)  (A)-(LLD), (B)-(1V), (C)-(D), (D)-(11)
(3) (A)-(ID), (B)-(IV), (C)-(IIT). (D)-(T)
(4) (A1), (B)-(11), (C)-(IV), (D)-(L1L)

Tt 1% T =t 11 = foem Hifs )
Bl = I
g =t EEiil

(A)  sEEiHS @ =W

(B) FFFHE (IT) wrEmm

(C) T (M) g

(D) fomdl =1 snfren (IV) =iaTET 3 e

fau 7 fawedi # 4 68 3 &1 =94 il

(1) (A)-D), (B)-(I1D), (C)-(IV), (D)-(D
(2) (A)-(I1D), (B)-(IV), (C)-(1). (D)-(IT)
(3) (AL}, (B)-(IV), (C)-(LL1), (D)1}

(4) (A, (B)-(ID), (C)-(IV). (D)-(IID)

1[Option ID=20277]
2[Option ID=20278]
3[Option ID=20279]
4[Option ID=20280]

Sl. No.21
QBID:1521021

Find the missing term in the series below:
2,59, 19,372 .coviss
(1)




20 7
3) 71

4) 72

EIERARER e e e

2.0,9.18 832 .....os
1) 74
(2) 75
3) 711
4) 72

1[Option ID=20281]
2[Option ID=20282]
3[Option ID=20283]
4[Option ID=20284]

Sl. No.22
QBID:1521022

The average of 5 consecutive numbers A, B, C, D and E is 48. What is the product of
Aand E?

(1) 2000

(2) 2300

(3) 2200

(4) 2100

5 TR A A, B, C, D 3t E <1 3f9d 48 21 A 3 E =1 0w 51 27

(1) 2000

(2) 2300
(3) 2200
(4) 2100
1[Option ID=20285]
2[Option ID=20286]

3[Option ID=20287]
4[Option ID=20288]

Sl. No.23
QBID:1521023

Arrange the following words according to English dictionary arrangement:

(A) Epitaxy
(B) Episode
(C) Epigene
(D Epitome
(E) Epilogue

Choose the correct answer from the options given below :

1) (C), (), (B), (4), (D)

() (©). (B). &) (B). (D)
(3) (0. A, (B). (B), D)
(@) (0. (B, B), D). ")

Freafefiaa =i i st seeeter o % siqom @

(A)  Epitaxy
(B) Episode
(C)  Epigene
(D) Epitome
(E) Epilogue

A fau o feeedi | @ wd S == it
(1) (C), (E). (B), (A), ()

@ (©), ®), @), B). D)
) (©. (). ®E), B), D)

(4) (C). (E), (B), (D), (A)

1[Option ID=20289]
2[Option ID=20290]
3[Option ID=20291]
4[Option ID=20292]

Sl. No.24
QBID:1521024

A person traverses a certain distance in one hour, 24 minutes by covering two third of the
distance at 4 km per hour and the rest at 5 km per hour. Find the distance covered by the

person.




1) 6km

(2) 8km
(3) 6.5km
(4) Tkm

o =t w1 e gl 4 FRf. wfa gm i ifa & efi s 5 R wie g v B ww w24 e A
o e o o e § | 56 st g ad s s g e |

(1) 65
(2)  gfm.
(3) 6.5 fHA
(4) 7TRAL

1[Option ID=20293]
2[Option ID=20294]
3[Option ID=20295]
4[Option ID=20296]

Sl. No.25

QBID:1521025

A producer allows a commission of 36% on the retail price of his product and earns a profit of
8.8%. What would be the profit of the producer (in percentage), if the commission is reduced

by 24%?

1) 49
(2) 45

(3) 498
(4) 4586

TF IUEF A0 IAE G FHG T 36% HOFHEE A1 § S B.8% FN AW ST FAW g AE
HHITH 24% 9 1 1541 99 1 Ieared B ond (Siowa §)  feem g

(1) 49

(2) 45

(3) 49.6

(4) 456

1[Option ID=20297]
2[Option ID=20298]
3[Option ID=20299]
4[Option ID=20300]

Sl. No.26
QBID:1521026

In classical square of opposition if ‘Some S is not P’ is given as false then which of the
following could be immediately inferred from it?

(A) ‘Some S 1s P’ is true

(B) ‘Some S is P’ is undetermined

(C) ‘Some S is P is false

(D) ‘All Sis P’ is undetermined

(E) ‘All S is P is true

Choose the correct answer from the options given below :
(1) (B), (C), (E) only
(2) (A (C), (E) only
3) (B),(C), (D) only
@) (&), (C), (D) only
Tt & =l 3 af3, a3 ‘o S, P & e o w4 e @ ww P § 9 #0 s s@@ g
Tersprem =1 Hw BT
A) ‘FT S PEEdR
(B) ‘F9 8, P wfgifm #
(© FEd S, P E TEa )
D) ‘mf s, pE wAfuife #
(B) “wff S, PE¥
H= few o faehedi § | wE I 0 =w it
(1)  F= (B), (0), (B)
(2)  F=e (A), (), (E)
(3) € (B), (O), (D)
(4) FEA), (©). D)

1[Option ID=20301]
2[Option ID=20302]
3[Option ID=20303]
4[Option ID=20304]

Sl. No.27
QBID:1521027

Fallacy in which a proposition is held to be true just because it has not been proved false, or
false just because it has not been proved true is called:

(1) Fallacy of Composition
(2)




Irrelevant Conclusion

(3) Argument from Ignorance

(4) Hasty Generalization

TEE e FREt o T = Faa 9w g a9 T aw @ 5 S e w6 R T g, e
oA el 58 A0 W TR 30 WEl Wi A8 SR T § R e o f:

(1)  ©TSA1 I ashiEE

(2) o T

(3) S E wh

(4)  sfentE am=fw

1[Option ID=20305]
2[Option ID=20306]
3[Option ID=20307]
4[Option ID=20308]

Sl. No.28
QBID:1521028

Given below are two statements :

Statement I: The statement — “A person without a purpose is like a car with no engine.
And that's a useless piece of machinery” is an example of analogical

argument.

Statement IT: The statement — “A person with no purpose is like a car with no engine. And
that's a useless piece of machinery” is an example of non argumentative use
of analogy.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement 1T are false

(3) Statement [ is true but Statement II 1s false

(4) Statement I is false but Statement II is true

e 2 A o E
FH(D): 7% T - T e F v a5 i % #E S o 9w srgmant w7
TIGTEHETS T o U I E |

* I T TF IR R |
I wEH % A A, = By T e 8 a8 3 % 999 it
(1) FeF 1 & [I5H & 7 |

(2) = [ [I5H 3@ & |

(3) F e &, wifhd w2 [ s & |

@ o | 95 2, o FA LT 2 |
4

1[Option ID=20309]
2[Option ID=20310]
3[Option ID=20311]
4[Option ID=20312]

Fa (D) : 98 %99 - ‘Tresya = B $o9 % = 3w 2 oi 9g sewartt s 37 aewa =1 fm o
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Given below are two statements :

Statement I :  Classical Indian Logicians (Naivayikas) recommend the use of the negative
premise.

Statement II : Naiyayikas accept tarka as a valid independent source of knowledge.

In the light of the above statements, choosze the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement | and Statement 11 are false
(3) Statement I is true but Statement II is false

(4) Statement lis false but Statement Il is true
4= g A Ruw E

Hge AT Wi -awATea (k) F1 I HH T SAFHIE B E |
e (I1) :  =nlER o & 79 % (Th 99) =6 99 919 % 59 3 Tk %0 8

ITUEG WO & A §, A9 By e fHEed § | /9 39 o 999 i

modal or counter-factual conditional (tarka) to fortify or confirm the major

e (1) e R e 5T ATHR-a i G2 R A99 S I B % HgEd TR



) sy 1 it 11 241 5o 3

(2) =g 1 [ 5H s £
(3) e 16w &, ot e 11 sEed B 1

(4) T | 36ca &, o o [[Hed £ |

1[Option ID=20313]
2[Option ID=20314]
3[Option ID=20315]
4[Option ID=20316]
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Any object if thrown upwards starts to come downward after reaching a particular height.
Therefore there must be some force that must be pulling that object towards the Earth's
surface. This argument is based on which of the following means of knowledge?

(1) Postulation (Arthapatti)

(2) Comparison (Upamana)

(3) Verbal Testimony (Sabda)

(4) Perception (Pratyaksa)

wi§ ot axg afe 3 Fu R i e o 8, vk Tadn g o ugeA % ag A9 R sl e e g,
F: FF o ST WO S I6 FE H YA H FGw i 6 S @ G0 | TR T T o e e

o e 27
(1) =iyl
(2) A

(3) = AW
(4) oA

1[Option ID=20317]
2[Option ID=20318]
3[Option ID=20319]
4[Option ID=20320]
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With respect to different number system bases, each number in the sequence 10000, 121,
100, 31, 24, P, 20 represents the same decimal number x. The missing number P in this

sequence 1s:

(1) 22
(2) 21
(3) 23
(4) 16

fir=t e ugfa smari & g2 8 @E ®W 10000, 121, 100, 31, 24, P, 20 ¥ Yo% S691 99 5990
e x i e F 8| F6 H T @0 P T W R H S R

(1) 22
(2) 21
3) 23
(4) 16

1[Option ID=20321]
2[Option ID=20322]
3[Option ID=20323]
4[Option ID=20324]
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Given below are two statements :

Statement I:  Maost PCs use Dynamic RAMs for CPU Cache.

Statement II: Static RAM is faster and more expensive than Dynamic RAM.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true




(1)

(2)

3)

(4)

i 2 e e £
Fo () Afeewar & =, @t & 3 9 % fou nfew (seafie) 9 %1 509w #= §)
wo (1) :  wfeen (o) 0 dammi 2 of iaw (srafes) 9 8 s e 2

I FH F A A, 99 By T e § § o 3w = i
o [ 3 [L5M1 7o 7 |

e 1 37 I gH1 w9 2 |

Fo T | 2, At o 115 2 |

TR I #18ed 2, A &9 [15e 7 |

1[Option ID=20325]
2[Option ID=20326]
3[Option ID=20327]
4[Option ID=20328]

(&)

(B)

(©)

(D)

(E)

1)

(2)

3)

(4)

(1)

(2)

3)

(4)
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Which of the following peripheral devices are considered as only input devices?

Speaker
Barcode Reader
MODEM
Graphic Tablet

Microphone

Choose the correct answer from the options given below :

(B), (D) and (E) only

(B), (C) and (D) only

(A), (B) and (E) only

(C), (D) and (E) only

Tt wftdm (GiFe) st § § FH-8 Fa0 T2 IR0 F T F 59 9 87

A =

B S b

() wEm

(D) it 2aerz

(B)  wrsrem

Hr= fau mu el # 4 591 I =1 =999 it
=4 (B), (D) 3 (E)

Fad (B), (C) 3 (D)
F (A), (B) 51 (E)

F9 (C), (D) 37 (E)

1[Option ID=20329]
2[Option ID=20330]
3[Option ID=20331]
4[Option ID=20332]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A):  The Internet of Things (IoT) is a rapidly evolving technology due to its

wide range of applications.

Reason (R) : 10T is inherently immune to Cyber attacks.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

Fr= 21 FoF w0 § : uF e (Assertion A) % ¥9 # fafiad & a1 gE0 3wk #0001 (Reason R) F w9

#:

sfiERe (A) - ez S fir (e o ) IO S T W S (U ® e diemta
o Tt B avelt drenfie 81

F7m (R) : T 371 7 TEE e | sarifed ®9 § Wit B

IUR FOA & A H, = B Gwedl § & w8l 3w 9w il

(1) (W) 3R (R) I 7 & 3R (R), (A) F wE e &)

(2) (&) 3 (R) 21 &7 &, S (R), (A) 31 =€) =men 76 21
(3) (AT &, 9fF (R) s/ 81
(4) (M) #, A (R) s 21

1[Option ID=20333]
2[Option ID=20334]
3[Option ID=20335]
4[Option ID=20336]
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Conszider the following information based on an email software application in whicn an email

attachment is being sent:

From : A Ce : C,D

To : B Bee : E

Subject : CV of Amit

Message : Please find attached the CV of Amit.

with regards

Attach : AmitCV.doex

How many people will receive copies of the attachment?

(1)
(2)
3)

= o bk



S WA TATRIH W STEIE HeAttas gere v fE=m fif e wF § 9 dem #0695

mR
T - = = C:D
Fi : B didd  E

T Afza

(1) 2

(2) 3

3) 4

4) 5

1[Option ID=20337]
2[Option ID=20338]
3[Option ID=20339]
4[Option ID=20340]
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Global warming is attributed to the presence of the following gases in the atmosphere:
(A) Methane

(B) Sulphur dioxide

(C)  Surface Ozone

(D)

Nitrogen dioxide

(E) Carbon dioxide

Choose the correct answer from the options given below :

(1) (A (B), (C), (E) only

(2) (&), (C). (E) only
(3) (A), (0), (D), (E) only

(4) (&) (B), (D), (E) only

amarEw ¥ fafafaa § @ 6 fol f sofeafs =0 dfves o (e aifidn) F oo s s
T

&) AEE

(B) FeH TEAEES
(C)  |dg Fi s e
(D) AR TRRS
(B) FFA 31 sHEss

= fom o faehedi § | wE IR 0 =a it

(1) F== (A), (B), (O). (B)

(2) F4 (A), (O), (E)

@) =ad (A), (C), (D), (E)

¥ (A), (B), (D), (E)
(4)

1[Option ID=20341]
2[Option ID=20342]
3[Option ID=20343]
4[Option ID=20344]

Sl. No.37
QBID:1521037




(Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) : In vitro testing forms the basis for hazard identification.

Reason (R) : In vitro studies are performed within the same biological entities.

In the light of the above statements, choose the correct answer from the options given below :

1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A)isfalse but (R) is true

H9 2 e fou T E AT (Assertion A) % w9 ¥ feian & 91 gE0 369 o (Reason R) % w9
ﬁ:

At (A) AT wiiem (2 sme e % o smam = fmtor e &
A0 (R) : Al wsaE g Sa—gemai & Wie Feafea Gy wm )

IYIE U F AEE 1, A= B s § 8 ad 3w % == i
(1) (A) 9 (R) =H1 @3 2 371 (R), (A) =1 = =z 2|

(2) ) S (R) ZF me E, S (R), (A) w5 =mem 76 )

(3) ()T E, A (R) s B

@ (A) 35 &, @it (R) &0 21

1[Option ID=20345]
2[Option ID=20346]
3[Option ID=20347]
4[Option ID=20348]
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Match List I with List IT

List I List IT
(Types of Waste) (Examples)
(A) Municipal waste (I) e-waste
(B) Toxic waste (II) Straws
(C) Biomedical waste (IIT) Demolition waste
(D) Agricultural waste (IV) Syringes

Choose the correct answer from the options given below :

) (A)(D, (B)-(IID), (C)-(IV), (D)-(IL)

N

(
(2) (A)-(II). (B)-(D. (C)-(IV). (D)-(IT)

(3) (A)-ID, (B)-(D), (O)-(IV), (D)-(IID)

(4) (A)-(IV). (B)-(I1I). (C)-(I), (D)-(IT)

-1 % w11 =0 forere fifs
=1 11
I F TR e
(A) T s 0 E-w=m
(B) T s an ==
(C) Sa-Tafreada #=a (ITT) wefa
D) F sk (V) feraemte (Rafee)
1 fou o ol # & I8 I #1 == Fife -

(1)



(A)-(D), (B)-(ILD). (C)-(IV), (D)-(ID)
(2)  (AQ)-ID), (B)-(I). (C)-(AV), (D)-(IL)

(3)  (A)-aD. (B)-O), (O)-AV), (D)-AII)
(4 (A)-V), (B)-(ID), (O)-(I), (D)-(ID)

1[Option ID=20349]
2[Option ID=20350]
3[Option ID=20351]
4[Option ID=20352]
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Gray Water consists of

(A) Kitchen waste water

(B) Waste water containing fecal matter
(C) Waste water from industrial units
(D) Bathroom waste water

(E) Water from agricultural run-off
Choose the correct answer from the options given below :
(1) (A, (B), (C), (E) only

(2) (A)(C). (D), (E) only

(3) (C)and (E) only

(4) (A)and (D) only

it () = A miE w

(&) TR AT sfE W

(B) = wEd - e HTEE o

(C) el STl & SR 5=

D) TETE - AUEE 5

(B) W & F 78 ™

2 fiw o fe 3 4 @ IR w1 = b
(1) F== (A). (B). (C). (E)

(2) A (A), (C), (D), (E)
(3) a9 (C) 3 (E)

@ At (A) 3 (D)

1[Option ID=20353]
2[Option ID=20354]
3[Option ID=20355]
4[Option ID=20356]
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Coneept behind fuel cell vehicles (FCVs) is
(1) Using solar energy to run cars
(2) Using rechargeable batteries to run cars
(3) Using hydrogen and oxygen to run cars
(4) Using improvised CNG to run cars
$ At e (e e ) (T @ ) 9D R wo §
(1) =R =@ &g H1 31 F ITE FA
(2) =W 9o & O T 4 d2Ral & I s
(3) W TH ¥ FESOH S AFEOH TH 1 I F
(4) 0 99 &G FW 960 (3EEes) S F =T w7

1[Option ID=20357]
2[Option ID=20358]
3[Option ID=20359]
4[Option ID=20360]
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‘SAMVAY" stands for
(1) Skill Assessment Matrix for Vocational Advancement of Youth

(2) Skill Acereditation Matrix for Vocational Assessment of Youth




1[Option ID=20361]
2[Option ID=20362]
3[Option ID=20363]
4[Option ID=20364]

(4) ToFer oz Uz el o1 dere ULeag % 99

(3) Skill Assessment and Monitoring Vocational Advancement of Youth

(4) Skill Assessment and Monitoring of Vocational Aptitude of Youth
‘wy A v W e e
(1) o sz Bfm W S veatete st g
(2) Tere Ghifseem Afzra ®i drkbee sEie #E 99

(3) fore swmHe U AT #% JFRFe Usaiade A J9
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ntegration.

(4) (D), (E) only

(4) ¥ (D), (B)

1[Option ID=20365]
2[Option ID=20366]
3[Option ID=20367]
4[Option ID=20368]

(2) (A), (C), (D), (E) only

AeF T Toem % w2 §

(A)  IEmEr S "R TR

@) =i fashm Wi sEEE g aEe F
(C) o = wkaias aiis &1 s Fe i T vk $ aET # 5 § g Fe
(D) =S # St st fafaem < i w5 s
(B)  fifoe, wmfa, SE0E AR e Tege w1 HE e

Objectives of Value Education are

(A)  Responsible and cooperative citizenship.

(1) (&), (B), (D), (E) only

(3) (B}, (C). (D). (E) only

= fom o e § | 59 3 1 999 Fia
(1) == (A), (B), (D), (E)
(2) = (A), (0). (D), (E)

(3) F=a (B). (0), (D). (E)

(B)  Development of skills and imparting vocational training.

(C)  Developing democratic way of thinking and inculeation of the spirit of National

(D) Respect for dignity of individual and diversity in society.

(E)  Development of physical, mental, emotional and spiritual aspects.

Choose the correct answer from the options given below :
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1) &
2 7
3) 1
4 9

e B =)
1) ¢
2) 7
(3) 4
4) 9

1[Option ID=20369]
2[Option ID=20370]
3[Option ID=20371]
4[Option ID=20372]

offered by higher
undergraduate degree (Hons/Research) should have academic qualification of level

education Institutions,

oo e FEaE AT AN TS wEsAl g
AR, 4 — 99 i T (s /7)ol s

According to UGC guidelines (2021) for Multiple Entry and Exit in Academic Programmes

a student seeking admission to 4-years

-
pekl

s T & o g o & % fem fEe &
%+ Tom femneff o 59 w0 i SRS I
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In which of the following countries, the research and innovation investment as percentage of
GDP is the lowest?

(1) India

(2) South Korea

(3) Israel

@) UBSA

Frferfias 2o # & 5 # w1 iR 99 96T W T Hie] 30 1 e e =g 7
(1) wma

(2) e =i

(3) T

(4) AW

1[Option ID=20373]
2[Option ID=20374]
3[Option ID=20375]
4[Option ID=20376]
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Which of the following statements is true regarding Dalhousie?

(A) He supported Thomason's system of varnacular education in North Western province.
(B)  He provided the first official support for female education in British India.

(C) He supported Thomason's plan for technical education in Bengal.

(D)  He reformed the Hindu College and made it the Presidency college of Calcutta.

Choose the most appropriate answer from the options given below :
(1) (A)and (B) only
(2) (A), (B) and (C) only
(3) (B), (C) and (D) only
(4) Q). (B). (C) and (D) only

SeRr o Hay ° FefeiEd § % w6 @ e gh 8 v

(&) IO IE-ufvaddt w § e (SEt) fren i aimem woneft w5 wmeda fEE
(B)  fafew vwa % wfgen o &g 397 weelt snfusie qew wam |

(C) =T =Tel H ARl e o TeTU eiE e wme R

(D) =w femg wicrs § qaR AT A 56 et § SEISH Hiow S |

= fou . el § F oeE 9T I 99 i
(1) F=E (A) 3 (B)

(2)  F=a (A), (B) 31 (O)
(3) F=4 (B), (C) R (D)

(4) F (A), B), (O) 3 (D)

1[Option ID=20377]
2[Option ID=20378]
3[Option ID=20379]
4[Option ID=20380]
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Read the following passage and answer questions :

The human capacity for abstract theorising soon produces a host of new rules for mastering
the environment and regulating social behaviour that go well beyond anything that exists
among chimpanzees. In particular, ideas concerning dead ancestors, spirits, Gods and other
invisible forces create new rules and powerful incentives for following them. Religious ideas
of various sorts enormously increase the scale on which human societies can be organised
and constantly generate new forms of social mobilisation. The highly developed suite of
emotions related to norm following ensure, however, that no mental model of how the world
works is ever regarded as a simple theory that can be discarded when it no longer conforms
to observed reality. Even in the domain of modern natural science, where there are clear
rules for hypothesis testing, scientists develop emotional attachments to theories and resist
empirical evidence indicating that their pet theories are wrong. The tendency to invest
mental models and theories with intrinsic worth promotes social stability and allows
societies to bulk up enormously in size. But it also means that societies are highly
conservative and fiercely resist challenges to their dominant ideas. This is most obvious in
the case of religious ideas, but secular rules also tend to be invested with great emotion
under the headings of tradition, ritual and custom. The conservatism of societies with regard
to rules is then a source of political decay. Rules or institutions created in response to one set
of environmental circumstances become dysfunctional under later conditions, but they
cannot be changed due to people’s heavy emotional investments in them. This means that
social change is often not linear — that is, a process of constant small adjustments to shifting
conditions — but rather follows a pattern of prolonged stasis followed by catastrophic change.
This in turn explains why violence has been so central to the process of political
development. As Hobbes points out, the fear of violent death is a very different emotion from
the desire for gain or economic motivation. It is extremely difficult to put a price tag on one's
own life, or the life of the loved one, which is why fear and insecurity typically motivate
people to do things that mere material self — interest does not.

forefiad 320 i 9 S 9 % I G ¢

s g i Amg awar o & st gadt fgee oft amfes e % e F o 1
et #ir = A ® 7 st | o S et @ S aga e 9 2 ey s @ g ae,
e, FHi-dEmet i s wgreE afEE @ et BEn AU e st 39 sETen ¥ R
St IR 6 = F 2 | G R afi few am e st 39w W oagE g,
oo ATaW W WHE TES Tied TR N Tehd § o ST UHeal AU T SaR F9 0 8 |
cifth Tl % siqaer @ defua wieAsl &1 seda ek sge-an gRifrea s @ B i o aafie
Wity a8 781 gwial T fava fohm wepr S e B, o wi9 w man g s w9 5 W S 56 e
ST TR S TRl §, 9 qE SR A % IFET T a1 8 g, weEfaE fae F & 1 o,
WE UfteT % wiET  we St fgmt % uid wiaaens s ot w0 ed § s 98 3
T §U FTEAE HIE 1 Y F T S e g e € | ST 9 % a1 e Tl s
gt # Fam 1 wafa & omfas wofae # S oo @ o 98 o S ST e Al 21
=i, s a1 7% oft 2 75 T safus s 2 € o 53 e e w5 e w g e §)
% T SR AEe W wdiah T §, o g-teua e s, seE s dfa-femst
iRt * A Acaras WE F A e w i vaf wEd § ) aw, e % g9y § e w5 wlean
TG &0 w1 UF Hie w6 # | Wi aifEeE & v S e 7§ e e s
arg i Tealoal o fBfsra 8w & o 3 il % w9l wEAens Faw o s S g9gen 48 W
AHaT| T A A7 ¢ T amtae qfed wa: as-af agedt ot & @y o e g awmEeE
i FEFT-TE F6, TAE EE UF S TEea & G2 w0 S W ¢ ek wg e afeEde
2 21

a9 w9 e & 6 e oot fwm i e % e s Seia-fyg w0 R SElE e | s R
%, Teu e w1 wg S A i ST S SR ¥ U stedd fae Wi g | R oft =t e
S T e 3 T St Fwed B, 5 R 9 i e e w1 8 3= e w1 e i i
&l &, S Fae o @-faa 28 2 @

According to the above passage, various religious ideas prompt new forms of

(1) Human environment
(2) Social mobilisation
(3) Incentives

(4) Abstractions

ST T % SAAT A i e s T w e a0 67

(1) = i
(2) T Tohaea
(3) wEITH

(4)

1[Option ID=20381]
2[Option ID=20382]
3[Option ID=20383]
4[Option ID=20384]
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Read the following passage and answer questions :

The human capacity for abstract theorising soon produces a host of new rules for mastering
the environment and regulating social behaviour that go well beyond anything that exists
among chimpanzees. In particular, ideas concerning dead ancestors, spirits, Gods and other
invisible forces create new rules and powerful incentives for following them. Religious ideas
of various sorts enormously increase the scale on which human societies can be organised
and constantly generate new forms of social mobilisation. The highly developed suite of
emotions related to norm following ensure, however, that no mental model of how the world
works is ever regarded as a simple theory that can be discarded when it no longer conforms
to observed reality. Even in the domain of modern natural science, where there are clear
rules for hypothesis testing, scientists develop emotional attachments to theories and resist
empirical evidence indicating that their pet theories are wrong. The tendency to invest
mental models and theories with intrinsic worth promotes social stability and allows
societies to bulk up enormously in size. But it also means that societies are highly
conservative and fiercely resist challenges to their dominant ideas. This is most obvious in
the case of religious ideas, but secular rules also tend to be invested with great emotion
under the headings of tradition, ritual and custom. The conservatism of societies with regard
to rules is then a source of political decay. Rules or institutions created in response to one set
of environmental circumstances become dysfunctional under later conditions, but they
cannot be changed due to people’s heavy emotional investments in them. This means that
social change is often not linear — that is, a process of constant small adjustments to shifting
conditions — but rather follows a pattern of prolonged stasis followed by catastrophic change.
This in turn explains why violence has been so central to the process of political
development. As Hobbes points out, the fear of violent death is a very different emotion from
the desire for gain or economic motivation. It is extremely difficult to put a price tag on one's
own life, or the life of the loved one, which is why fear and insecurity typically motivate
people to do things that mere material self — interest does not.

forefiad 320 i 9 S 9 % I G ¢

s g i Amg awar o & st gadt fgee oft amfes e % e F o 1
et #ir = A ® 7 st | o S et @ S aga e 9 2 ey s @ g ae,
e, FHi-dEmet i s wgreE afEE @ et BEn AU e st 39 sETen ¥ R
St IR 6 = F 2 | G R afi few am e st 39w W oagE g,
oo ATaW W WHE TES Tied TR N Tehd § o ST UHeal AU T SaR F9 0 8 |
cifth Tl % siqaer @ defua wieAsl &1 seda ek sge-an gRifrea s @ B i o aafie
Wity a8 781 gwial T fava fohm wepr S e B, o wi9 w man g s w9 5 W S 56 e
ST TR S TRl §, 9 qE SR A % IFET T a1 8 g, weEfaE fae F & 1 o,
WE UfteT % wiET  we St fgmt % uid wiaaens s ot w0 ed § s 98 3
T §U FTEAE HIE 1 Y F T S e g e € | ST 9 % a1 e Tl s
gt # Fam 1 wafa & omfas wofae # S oo @ o 98 o S ST e Al 21
=i, s a1 7% oft 2 75 T safus s 2 € o 53 e e w5 e w g e §)
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Emotional attachments often cloud

(1) The observed reality

(2) The belief in invisible forces
(3) The reiteration of social rules

4) The existing simple theory of the world

(1) S=eitesa gard

(2)  wgvaE wiE |

(3) T Fam i gt

(4) fava % wafer wemw frgia

1[Option ID=20385]
2[Option ID=20386]
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Read the following passage and answer questions :

The human capacity for abstract theorising soon produces a host of new rules for mastering
the environment and regulating social behaviour that go well beyond anything that exists
among chimpanzees. In particular, ideas concerning dead ancestors, spirits, Gods and other
invisible forces create new rules and powerful incentives for following them. Religious ideas
of various sorts enormously increase the scale on which human societies can be organised
and constantly generate new forms of social mobilisation. The highly developed suite of
emotions related to norm following ensure, however, that no mental model of how the world
works is ever regarded as a simple theory that can be discarded when it no longer conforms
to observed reality. Even in the domain of modern natural science, where there are clear
rules for hypothesis testing, scientists develop emotional attachments to theories and resist
empirical evidence indicating that their pet theories are wrong. The tendency to invest
mental models and theories with intrinsic worth promotes social stability and allows
societies to bulk up enormously in size. But it also means that societies are highly
conservative and fiercely resist challenges to their dominant ideas. This is most obvious in
the case of religious ideas, but secular rules also tend to be invested with great emotion
under the headings of tradition, ritual and custom. The conservatism of societies with regard
to rules is then a source of political decay. Rules or institutions created in response to one set
of environmental circumstances become dysfunctional under later conditions, but they
cannot be changed due to people’s heavy emotional investments in them. This means that
social change is often not linear — that is, a process of constant small adjustments to shifting
conditions — but rather follows a pattern of prolonged stasis followed by catastrophic change.
This in turn explains why violence has been so central to the process of political
development. As Hobbes points out, the fear of violent death is a very different emotion from
the desire for gain or economic motivation. It is extremely difficult to put a price tag on one's
own life, or the life of the loved one, which is why fear and insecurity typically motivate
people to do things that mere material self — interest does not.
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Tendeney to invest in mental models with intrinsic worth promotes
(A)  Opposition to social control
(B) Social stability
(C)  Preserving dominant ideas
(D) Secularisation of society
Choose the correct option :
(1) (A) and (B) only
(2) (B) and (C) only
(3) (C)and (D) only
4) (A)and (C) only

s T % s vt 3 Fa w0 B g A Fea gt w37
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2[Option ID=20390]
3[Option ID=20391]
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Read the following passage and answer questions :

The human capacity for abstract theorising soon produces a host of new rules for mastering
the environment and regulating social behaviour that go well beyond anything that exists
among chimpanzees. In particular, ideas concerning dead ancestors, spirits, Gods and other
invisible forces create new rules and powerful incentives for following them. Religious ideas
of various sorts enormously increase the scale on which human societies can be organised
and constantly generate new forms of social mobilisation. The highly developed suite of
emotions related to norm following ensure, however, that no mental model of how the world
works 15 ever regarded as a simple theory that can be discarded when it no longer conforms
to observed reality. Even in the domain of modern natural science, where there are clear
rules for hypothesis testing, scientists develop emotional attachments to theories and resist
empirical evidence indicating that their pet theories are wrong. The tendency to invest
mental models and theories with intrinsic worth promotes social stability and allows
societies to bulk up enormously in size. But it also means that societies are highly
conservative and fiercely resist challenges to their dominant ideas. This is most obvious in
the case of religious ideas, but secular rules also tend to be invested with great emotion
under the headings of tradition, ritual and custom. The conservatism of societies with regard
to rules is then a source of political decay. Rules or institutions created in response to one set
of environmental circumstances become dysfunctional under later conditions, but they
cannot be changed due to people’s heavy emotional investments in them. This means that
social change is often not linear — that is, a process of constant small adjustments to shifting
conditions — but rather follows a pattern of prolonged stasis followed by catastrophic change.
This in turn explains why violence has been so central to the process of political
development. As Hobbes points out, the fear of violent death is a very different emotion from
the desire for gain or economic motivation. It is extremely difficult to put a price tag on one’s
own life, or the life of the loved one, which is why fear and insecurity typically motivate
people to do things that mere material self — interest does not.
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Because of mental investment, political development is invariably associated with

(1)  Economic motivation
(2) Prolonged stasis

(3) Conditional adjustments

(4) Violence
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1[Option ID=20393]
2[Option ID=20394]
3[Option ID=20395]
4[Option ID=20396]
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Read the following passage and answer questions :

The human capacity for abstract theorising soon produces a host of new rules for mastering
the environment and regulating social behaviour that go well beyond anything that exists
among chimpanzees. In particular, ideas concerning dead ancestors, spirits, Gods and other
invisible forces create new rules and powerful incentives for following them. Religious ideas
of various sorts enormously increase the scale on which human societies can be organised
and constantly generate new forms of social mobilisation. The highly developed suite of
emotions related to norm following ensure, however, that no mental model of how the world
works is ever regarded as a simple theory that can be discarded when it no longer conforms
to observed reality. Even in the domain of modern natural science, where there are clear
rules for hypothesis testing, scientists develop emotional attachments to theories and resist
empirical evidence indicating that their pet theories are wrong. The tendency to invest
mental models and theories with intrinsic worth promotes social stability and allows
societies to bulk up enormously in size. But it also means that societies are highly
conservative and fiercely resist challenges to their dominant ideas. This is most obvious in
the case of religious ideas, but secular rules also tend to be invested with great emotion
under the headings of tradition, ritual and custom. The conservatism of societies with regard
to rules is then a source of political decay. Rules or institutions created in response to one set
of environmental circumstances become dysfunctional under later conditions, but they
cannot be changed due to people’s heavy emotional investments in them. This means that
social change is often not linear — that is, a process of constant small adjustments to shifting
conditions — but rather follows a pattern of prolonged stasis followed by catastrophic change.
This in turn explains why violence has been so central to the process of political
development. As Hobbes points out, the fear of violent death is a very different emotion from
the desire for gain or economic motivation. It is extremely difficult to put a price tag on one's
own life, or the life of the loved one, which is why fear and insecurity typically motivate
people to do things that mere material self — interest does not.
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The passage draws our attention to the influence of
(1) Empirical evidence in theorisation
(2) Secular norms on society

(3) Abstract ideation in human mind
(4) Shifting social behaviour
I TR BRI RE % THE % U s SR e 2 7
(1) fagidmm § sgvas= a
(2) == T Free fram
(3) WA wiETsE # s o
(4) T AEISE =HE

1[Option ID=20397]
2[Option ID=20398]
3[Option ID=20399]
4[Option ID=20400]
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The first and only event held at the first olympaid in 776 B.C. was :

1) The Diaulos
(2> The Stade

3)



The Dalichos

4) The Chariot race
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1[Option ID=20401]
2[Option ID=20402]
3[Option ID=20403]
4[Option ID=20404]
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The executive board of the 10C consists of

1) I0C President, Five Secretary, Eight other members

(2 10C President, Four Vice Presidents, Ten other members

3) 10C President, Five Vice Presidents, Seven other members

4 I0C President, I0C Secretary, Three Vice President
3T 3ft it % wEfE Hea A ik B 2
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2[Option ID=20406]
3[Option ID=20407]
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Which School of Philosophy is also referred as materialism?
1) Jdealism

(2 Pragmatism

3 Naturalism

) Humanism
s 6 e Remam = <difasmaame” oft == S 20

(1) HESER
(2) SRR AER

1[Option ID=20409]
2[Option ID=20410]
3[Option ID=20411]
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According to Cowell and Schwehn, which one of the following is not the objective of Physical
Education?

(1)




Neuro — muscular coordination
(2 Organic power and adoptive efforts

3) Cultural development

@ Interpretative development
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1[Option ID=20413]
2[Option ID=20414]
3[Option ID=20415]
4[Option ID=20416]
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The term “Oxygen Debt” was first coined by :
(1) Hans Kreb

@ AV.Hill

3 0O. Meyerhot

4 Hajberg
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) EH

@ U fea

@) 37, FEE

(@) Ffat

1[Option ID=20417]
2[Option ID=20418]
3[Option ID=20419]
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Formulation for the calculation at Minute Ventilation (V) will be Ve=
@ TLC < f

@ TVxf

3 VCxf

@ EVxf

fie Haram (fme a=deivm) (Vi) 701 o1 53 91 217 V=

@ TLC x f

@ TVxf

3 VCxf

@ EVxf

1[Option ID=20421]
2[Option ID=20422]
3[Option ID=20423]
4[Option ID=20424]
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What is the composition of muscles (Skeletal)?




(1) 75% Protein, 20% Water and 5% Inorganic salt
() 65% Protein, 30% Water and 5% Inorganic salt

(3) 85% Water, 10% Protein and 5% Inorganic salt

@) 75% Water, 20% Protein and 5% Inorganic salt
ey (SFeRTetl) 1 HEe = g e

) 75% TIEH, 20% T IR 5% AHTEIE AT
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1[Option ID=20425]
2[Option ID=20426]
3[Option ID=20427]
4[Option ID=20428]
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TCA (Tr1 Carboxylic Acid) cycle has a significant event occurring during its completion with

production of :

1) Production of COz

2 ATP production

3 H:20 production

(@) All the above

31 €1 u (213 FEifFatas 37v) =5 i fsaf 6 A e F 3eared 1 U Heeaqul IR 370 BT @
@ CO2=h1 3cT1eH

2 ATP 3cared

3 H=0 Iered
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1[Option ID=20429]
2[Option ID=20430]
3[Option ID=20431]
4[Option ID=20432]
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Ovoid Joint is also known as
(1) Saddle Joint

(2 Ball and Socket Joint

3 Irregular Joint
4) Condyloid Joint
afery Ty i 38 T A oft S S
W dza gy
) e Ug Hishe HiY
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1[Option ID=20433]
2[Option ID=20434]
3[Option ID=20435]
4[Option ID=20436]
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The first electromyographic machine was prepared by :
1) Richard W. Bower

2 Edward Fox

3) Jasper

4 John Wiley
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1[Option ID=20437]
2[Option ID=20438]
3[Option ID=20439]
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The Cranial nerves are the inclusive part of :
(1) Central brain

(2 Autonomic nervous system

3) Peripheral nervous system

@) Central nervous system
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2[Option ID=20442]
3[Option ID=20443]
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What is the mechanical axis of bone?

(1) A point for balance in general motion

() A straight line passes from midpoints of proximal and distal ends
3 A straight line joining the shaft and neck of bone

@) A straight line serve as a lever point at distalend
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1[Option ID=20445]
2[Option ID=20446]
3[Option ID=20447]
4[Option ID=20448]
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Which type of goals focus on the actions an individual must engage in during performance to
execute or perform well?

1) Outcome goals
2 Performance goals
3) Process goals

) Long term goals
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1[Option ID=20449]
2[Option ID=20450]
3[Option ID=20451]
4[Option ID=20452]
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Which of the following theory proposes that heightened arousal produces a better
performance when the performer is an expert?

(1) Drive theory
(2 Evaluation — apprehension theory

3) Trait theory

4 Contingency theory
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1[Option ID=20453]
2[Option ID=20454]
3[Option ID=20455]
4[Option ID=20456]
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Which of the Psychological skill training phase focuses on strategies and techniques for
learning the various psychological skills?

1) Education phase

) Acquisition phase

3) Practice phase

4) Execution phase
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(4) FEESIET gTaE

1[Option ID=20457]
2[Option ID=20458]
3[Option ID=20459]
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An individuals personality interacts with the environment to determine a behavioral

response is named as :
(1) Cognitive affective processing system
) Personality paradox
3) Cognitive effective processing system

4) Behavioral response processing system
AR SR SFuTia 1 % o freht saftw & =afthca @i % @y Tae 2 2, T8 Faam 2

(1) IfYFETHF HTEHTHF TsHHYT YT
2 =fthed ™
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1[Option ID=20461]
2[Option ID=20462]
3[Option ID=20463]
4[Option ID=20464]
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Khelo India winter games started in which year?
1 2018

(2 2019
3 2020

4 2022
G e Tl sfean 1 1 YUY fFa ad gan?
1) 2018

2 2019
@ 2020

4 2022

1[Option ID=20465]
2[Option ID=20466]
3[Option ID=20467]
4[Option ID=20468]
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When the United States Military Academy was founded?
1 1802
2 1800
(3 1783
(@) 1849

AT3eE woeH fufcredt wehedt & e fopm A g5 7

1) 1802

(2> 1800
(3)




1783
@ 1849

1[Option ID=20469]
2[Option ID=20470]
3[Option ID=20471]
4[Option ID=20472]
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The credit for developing modern teacher training program of Physical Education in India
goes to

1) M. Robson
2 P.M. Joseph
) H.C. Buck
4 Karan singh
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2[Option ID=20474]
3[Option ID=20475]
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Shree Hanuman Vyayam Prasark Mandal (Akhara), — Amravati started a five week summer
course of indigenous activities (Set drills, Physical exercise, Simple martial arts etc.) in the

year :
1) 1924

2 1926

(3) 1928

@ 1930
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1) 1924
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3) 1928
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3[Option ID=20479]
4[Option ID=20480]

Sl. No.71
QBID:471021

Which of the following does not cause water pollution?

(1) Paints
2 Gravels
3) Detergents

4 Silt
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1[Option ID=20481]
2[Option ID=20482]
3[Option ID=20483]
4[Option ID=20484]
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Which of the following is not true in relation to health?
(1) It is not a Static Phenomenon

(2 Health is not a multidimension phenomenon

3 It is a dynamic phenomenon

4 It is dynamic but not static

@ & goy § fefafed § 9 #99 @ a9 78 27

) Tz Tor ftge & 2
(2) mwa‘gmﬁqﬁmﬁ%

(3) Ig TaS gt 8
@ Iz e & 7 o et

1[Option ID=20485]
2[Option ID=20486]
3[Option ID=20487]
4[Option ID=20488]

Sl. No.73

QBID:471023

Most common problem faced by community health workers is mainly due to
(1) people causing nuisance

2 lack of health related regulation

3 people lacking desire to use the facilities

4) good health services

TTETTe TR FEaTel gRT AT 6t STHaTe et a= Tue H gEd w0 E

() AN gRT GHET Ie0E AT
() Ty gad fafmm 1 e

@) gfaenai & w2 @ oh gt fil e
(4) I =Ty Fard

1[Option ID=20489]
2[Option ID=20490]
3[Option ID=20491]
4[Option ID=20492]

Sl. No.74
QBID:471024

Which of the following is not related to dimensions of Health according to WHO?

(1) Social Dimension

2> Mental Dimension

3) Pedagogical Dimension

4 Physical Dimension

Tecq T3 3 % AR Frefifad § & 9 W @R F A § g@efih 168 87
@ g EH

(2)




qHfYS A=
3 e smm
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1[Option ID=20493]
2[Option ID=20494]
3[Option ID=20495]
4[Option ID=20496]

Sl. No.75
QBID:471025

What will happen during the super compensation phase if the athlete does not apply another

stimulus at the optimal time?

(1) Fatigue occurs

2 Involution occurs

3 Peaking occurs

4 Over compensation

Afg wucfie soan oo W gE I w1 T TE R @ q srfa-wfe (s afegfd) F S e afee
arm?

(1) 9FHE B 2

() YeEH (IeH) BT 2

() TRy Icqe Bl &

@) et gfagfd

1[Option ID=20497]
2[Option ID=20498]
3[Option ID=20499]
4[Option ID=20500]

Sl. No.76
QBID:471026

The decrease in response of a biological object to a continued stimulus in training is called as

1) Reversibility
2 Adoptation
3 Acclimatization

@ Accommodation
wfren & fRer 3éiow & uft freft Sfae aared 6t safen & s weema 2
(v FREHE (fae)

@ SFEH

@ TR

@ TR

1[Option ID=20501]
2[Option ID=20502]
3[Option ID=20503]
4[Option ID=20504]

Sl. No.77
QBID:471027

Which type of training is extremely effective for rapidly improving aerobic endurance?
1) Interval training

2 Fartlek training

3) Continuous method training

@) Speed endurance training




gt & GUR -aTel aehE el % e e s w1 e watfie g g 27

(1) HEATR SR

) HTEc Jrie

() Had ggfd aforeor

@) TG Hesiieran ginemor

1[Option ID=20505]
2[Option ID=20506]
3[Option ID=20507]
4[Option ID=20508]

Sl. No.78
QBID:471028

The training phenomena called super compensation is also known as :
1) Weigert’s law

) Falbrof’s law

3 Absolute’s law

) Intervention law

#qH Uit T NRE f FEera @
W i s

@ Wosrs w1 fFm

o Ty fafy

@ gEE-faf

1[Option ID=20509]
2[Option ID=20510]
3[Option ID=20511]
4[Option ID=20512]
Sl. No.79
QBID:471029

If Mean is 36, Median is 32.5 and Standard deviation is 5. Then the value of skewness
will be :

a 0.7
@ —-0.7
3 2.1
@ 1.4

afg wred 36 2, WfEdRT 32.5 B 3 9 oM 5 21 TEE 9 8
a 0.7
2 —0.7
3 21
@ 1.4

1[Option ID=20513]
2[Option ID=20514]
3[Option ID=20515]
4[Option ID=20516]

Sl. No.80
QBID:471030

In a study, the Physical Fitness of Volleyball (N = 10), Handball (N = 10) and Football (N
10) was compared with ANOVA. The degree of Freedom between groups (sum of square
and within groups (sum of squares) will be :
@ 3 and 30

@ 29 and 3

3)




2 and 27

@ 28 and 2

el srepm & ofad, afeiata (N = 10) ggafd (N = 10) 3R Fesia (N = 10) & o faenfeai =i
T Averan qreRl i g ANOVA o a9l il 75| Tggi o ofi= Saaar &1 3ismieh 2q (ST o1 20) de
HEl % Sfaid (I w1 AF) BT

@ 33730

@ 29 3R 3

(3) 2 3R 27
@) 2832

1[Option ID=20517]
2[Option ID=20518]
3[Option ID=20519]
4[Option ID=20520]

Sl. No.81
QBID:471031

The source of data in research in which an author has evaluated and summarized previou
research is known as :

@ Primary Source

@ Secondary Source

@ Encyclopaedias

@ Bibliographies

a8 FEYH SaH T9FR 3 Q@ ATEUE F eI T Ha90 B E, 31 S W Ed Faam @
) T |

@ fada €@
@ favaesmm

@) TergEf

1[Option ID=20521]
2[Option ID=20522]
3[Option ID=20523]
4[Option ID=20524]

Sl. No.82
QBID:471032

List of resources that provide a brief description of the nature and scope of each article «
book is known as :

o References

@ Annotated Bibliography

@ Index

@ Abstract

HaTEEl G A TAF G AU TEF F TH 0 - w1 afem T wgm w7 A gane fi
o=t % &9 # 1 ST R, T R

() Ted Oy

@) 1 TR




1[Option ID=20525]
2[Option ID=20526]
3[Option ID=20527]
4[Option ID=20528]

Sl. No.83
QBID:471033

Which evaluation promotes high levels of learning among all the students and pinpoin
areas where further developments and learning are needed?

@ Objective evaluation
@ Subjective evaluation
@ Summative evaluation

@ Formative evaluation

ouft BE % Tey I=wala S W Ser IR el i e fam we st stEvEE € W EEl W
faf=a = & foru #9 @1 geame g 27

) I oA

1[Option ID=20529]
2[Option ID=20530]
3[Option ID=20531]
4[Option ID=20532]

Sl. No.84
QBID:471034

Which is not an item of the shorter Barrow motor ability test?

@ Standing broad jump
@ Medicine ball put

@ Wall pass

@ ZigZag Run

ITE R HIeX &mal glev &1 98 wH 91 T8 87
W RfrE a1 59

@ ufshm o g

@ 9 aE

@ e @

1[Option ID=20533]
2[Option ID=20534]
3[Option ID=20535]
4[Option ID=20536]

Sl. No.85
QBID:471035

If body weight of an athlete is 90 kg and his Body Mass Index (BMI) is 30 kg/m?, then whs
will be the height of the athlete?

@ 1.532 m
@ 1.723 m
® 1.732m
@  1.632m




afe forelt wgefie =1 it ar 90 TR, ? 3fit 3ue w1 geanE gueh (st W ag) 30 fEm /A R,
uyreAle i F=s gt ?

1 1.532 .
2 1.723 #.

3 1.732 4.
@ 1.632 9t.

1[Option ID=20537]
2[Option ID=20538]
3[Option ID=20539]
4[Option ID=20540]
Sl. No.86
QBID:471036

An athlete performs 7 pull-ups and 8 push-ups. His body weight is 160 pounds and height
68 inches. What will be the value of his arm strength?

@ 361

@ 365

@ 360

@ 243

U TUeAlE 7 I 379 IR 8 YU 31 TGT 8| A AHINF YN 160 WIS R FaE 68 I 8 I Y
SIS 1 HH F1 2 ?

w 361

@ 365

@ 360

@ 243

1[Option ID=20541]
2[Option ID=20542]
3[Option ID=20543]
4[Option ID=20544]

Sl. No.87
QBID:471037

Which of the following is not under the functions of controlling?

@ Monitoring

@ Assessment

@ Retention

@ Rewarding

fraferfiaa 8 & #F feaw & Fe (yer) & sidia 78 27
o et (vereE)

(2) H\t_"’:l'l?f;l

(3) T

(4) QTR T

1[Option ID=20545]
2[Option ID=20546]
3[Option ID=20547]
4[Option ID=20548]

Sl. No.88
QBID:471038

Which is not a major class of sports product services?




@ Participant services

@ Spectator services

@ Event services

@ Sponsorship services

frifera & & 0 @a 3earg Ha1 & WgE 9 TE 27
) gfqymft e

) 7 Fa

3 FEFAM () Far

() TESH HaT

1[Option ID=20549]
2[Option ID=20550]
3[Option ID=20551]
4[Option ID=20552]

Sl. No.89
QBID:471039

The earliest theory of management is given by :

@ F.W. Taylor
@ H. Fayol
® James A.E. Stone

@ Peter Ducker

weyeE, veud 1 fagia g faurfed fmn
(1) Th.Zocq, TR

@ T HEE

@ S TE W

(4) et S

1[Option ID=20553]
2[Option ID=20554]
3[Option ID=20555]
4[Option ID=20556]

Sl. No.90
QBID:471040

Ability to understand abstract ideas is known as :
@ Technical skills

@ People skills

@ Conceptual skills

@ Decision making skills

R foam 1 THeE 1 A wEed @

1) TR R

@ S B

(3) STIYURICHSF 1T
@ fofr o7 =1 Fre




1[Option ID=20557]
2[Option ID=20558]
3[Option ID=20559]
4[Option ID=20560]

Sl. No.91
QBID:471041

The panhellenic games of the Greek was earlier known as :
(A) The Stephamitic games

(B) The Crown games

(C)  The Wenlock games

(D) The Funeral games

Choose the correct answer from the options given below :

@ A, Band C only
@ A and B only

@ C and D only

@ A, Cand D only

A % FA-ZIH Tl Hl qd TYg H T Hal a1 o1 ?
(A)  TEiegies T

(B)  FH T

(C)  aAereh g

(D) e T

= fou o foeredi & & 99 SR = ==a A
@) FHad A, B3t C

) *Had A 3B

3 *HIa C 3D

@ HaA A, C3RD

1[Option ID=20561]
2[Option ID=20562]
3[Option ID=20563]
4[Option ID=20564]

Sl. No.92
QBID:471042

Which of the following is not the correct statement belongs to the verticals of Khelo India?
(A) Annual Sports Competition

(B) Sports for Women

©) Sports for all

(D) Physical fitness of school children

(E) Sports for social development

Choose the correct answer from the options given below :

(1)

A and E only




@ B and D only
@ C and E only

@ B and E only

Qell sfean Friwa % wa 4 freifea d @ a9 @ fomres wd w1 27

(A)
(B)
©)
D)
(E)

1R @t wfoefiar
wfgenst & fau @

auft =fet # forg @@
Tepeft st it Smhifieh T
arTfors forshma & fore @«

e fou o fepei 6 @ g 3T = =ue A

1) Fad AIE
@ e B3I D
@) Fad C 3 E

4) Had B3 E

1[Option ID=20565]
2[Option ID=20566]
3[Option ID=20567]
4[Option ID=20568]

Sl. No.93

QBID:471043

Which are the correct statements related to later Athenian period?

(A)
(B)
©
(D)

(E)

This period rise the intellectualism
This period is also termed as age of transition
Isthmian games were started in this era

The individual well being and healthy habit formation was the aim of Physic
Education.

The Palestra and didascaleum were enhanced the significance and popularity

Choose the correct answer from the options given below :

@ A and C only
@ A, B and E only

@ A, C and E only

@ A, B and D only



I UG HTd U Gl el Ul 1 =9I P

(A) 38 % | sl F1 359 gl

(B) 39 1A &I G0 I F1 oft T @ St R

(C) 39 I H seAfpH Qe I TEAT 5

(D) 39 % iR e 1 ae it HEed S T SEdl w1 R FE ol
(B) orgr oiv ergdenifom & s si ety § 3fy &)

forer fau e ferhedi & @ WA I A A I

M Fad A IR C

@ HId A, BIARE

@ FaAA, C3RE

4) FHad A, B3t D

1[Option ID=20569]
2[Option ID=20570]
3[Option ID=20571]
4[Option ID=20572]

Sl. No.94
QBID:471044

The endocrine glands in upper abdomen and head are :

(A) Pineal
(B) Hypothalamus
(©) Thymus

(D) Ovary/testis

Choose the correct answer from the options given below :

@ A, Band D only
@ A, B and C only
@ A and B only
@ A and C only

Fufl 3et i i o siq e Hlef & :
@A) e

(B)  EEWdTHH

(C)  ugHE

(D) A/

a1 few mu foepedi 4 @ g 3o = =e Hifvw:

1)



Fad A, B3R D
) haa A, B3R C
() %Haed A 3R B
@) FHae A 3R C

1[Option ID=20573]
2[Option ID=20574]
3[Option ID=20575]
4[Option ID=20576]

Sl. No.95
QBID:471045

Physical activities involve with energy expenditure are :

(A) Walking
(B) Sleeping
(©) Running

(D)  Jogging

Choose the correct answer from the options given below :

@ A, Band C only

@ A and D only

@ A, Cand D only

@ BandD only

Sl @Ud H e ik FRa §

A)
(B) =M

©) g

(D) i @ gre

e fau o faepedi © @ @€ 39T &1 =9 Fif

) Had A, B3 C
@ Had A IR D

® Faa A, C3IRD
@) F3d B A D

1[Option ID=20577]
2[Option ID=20578]
3[Option ID=20579]
4[Option ID=20580]

Sl. No.96
QBID:471046




The transfer of heat from body core to environment takes place through :

(A) Core temperature
(B)  Skin

(C)  Clothing

(D) Convection

(E) Conduction

Choose the correct answer from the options given below :
w A /B, C,Dand E
@ A, C, D and B only
@ A, B, D and E only

@ A, C,D and E only
IR % q&F 9T & TaeR § HST H gEqiaRvl fefeiitad % gRI Bl g

@) FEE aEE

B) &=

(€)  wEmE

(D) "I

(E) EIE!

forer faw o fospedi & @ Wt 39 1w il

@ A B, C,D3RE

@ Had A, C, D IR B
@ wHaa A, B, D3R E
@ FaAA, C,DINE

1[Option ID=20581]
2[Option ID=20582]
3[Option ID=20583]
4[Option ID=20584]

Sl. No.97
QBID:471047



When the projectile motion is available in actual?

(A) All throws in air
(B) Archery

() Swimming

(D)  Rolling

(E)  Shooting

Choose the correct answer from the options given below :

@ A, B and E only
@ A, B and C only
@ A, C and E only

@ A, D and E only
IrEqa H YEYe Tid el Bl 27

(A)  za Tt vam
(B) et

(C) R

(D)  afe

(E) wfém

e feu o faepedi © @ wEl 39T &1 = SFifo
(1) Fad A, BIE
(2) WA,B@TC

@) Fad A, C 3 E
@ FaA A, DIATE

1[Option ID=20585]
2[Option ID=20586]
3[Option ID=20587]
4[Option ID=20588]

Sl. No.98
QBID:471048

Bone Fractures caused with the factor :

(A) Forcetal blow
(B) Sudden wrenching
(©) Rest

(D) Osteoprosis

Choose the correct answer from the options given below :



@ A, B and C only
@ A, BandD only
@ A, Cand D only

@ B, Cand D only
Ffeor % o fefafea 2

(A) o[ =R
(B) oM fauma
(C) faym

(D) = 3oy

e o e ferspedl 3 & @l I A I
) Fad A, B3R C
@ *FF9 A, B3R D
@ Had A, C D
@ Fad B, C 3D

1[Option ID=20589]
2[Option ID=20590]
3[Option ID=20591]
4[Option ID=20592]

Sl. No.99
QBID:471049

What are the indicators of movable joints?
(A) Uniaxial movements

(B) Biaxial movements

(C) Fixed suture

(D) Triaxial movements

(E) Non axial movements

Choose the correct answer from the options given below :

@ A, B and C only
@ A, B, C and D only
@ A, B, D and E only

@ A, C,D and E only



o EfEl &% HgEs Bk 4 87

(A)  TF e HaeH
®B) fz e F=em
(C) feraf

(D) Trefa deem

(B)  avefi d=em

o= fo e fospedt & @ w1t 3w w1 9= i

) %ad A, B3R C

@ Had A, B, C 3t D
@) %ad A, B, D 3t E
@ Fad A, C, D 3 E

1[Option ID=20593]
2[Option ID=20594]
3[Option ID=20595]
4[Option ID=20596]

Sl. No.100
QBID:471050

Which of the following Psychological skill training needs are addressed by educational spo
psychologists?

(A) Personality disorders

(B) Imagery

©) Goal setting

(D) Mental preparation

(E) Psychopathology

Choose the correct answer from the options given below :
@ B, Cand D only
@ A, B, C and E only
@ A, Cand D only
@ B, C and E only




St shrgr-mamRew g Fifed § @ fra-fe idafe Ave afiien @6 s -frefa
STETaSEIa g faT wrar 27

&) =g

B) fo= faam

(©) e fuRm

(D) W dETd

(B)  warm fagm

ot o e foreredi § @ vl 3o 1 = il
) Had B, C 3D

) Fad A, B, C 3 E

@ FHad A, C 3R D

@ FId B, C 3R E

1[Option ID=20597]
2[Option ID=20598]
3[Option ID=20599]
4[Option ID=20600]

Sl. No.101
QBID:471051

In sports positive self — talk leads to :

(A) Boosts confidence

(B) Optimistic view

(©) Stimulates over arousal
(D) Deflates confidence

(E) Alleviates stress

Choose the correct answer from the options given below :

@ A, C, D and E only
@ A, B and E only
@ A, Band D only
@ A, B and C only



T § FRNIcHS ATCHa! & Felsa®y

(A)  IrcAfavam # Ifg A 2
(B) =afth AT @ S 2
(C) sk FHRHE FI IEH BT
(D)  SAreafazerd § et e 2

(B) T 1 399 BT 2

= fou o faeredt © @ @ I w1 5= A

W FadA A, C, DI E
@ Fad A, BIRE
@) Had A, B3t D
@ FaAA, B3R C

1[Option ID=20601]
2[Option ID=20602]
3[Option ID=20603]
4[Option ID=20604]

Sl. No.102
QBID:471052

Which of the following theories are part of the group development?

(A) Linear theory
(B) Cyclical theory
(©) Pendular theory
(D) Triangle theory

(E) Non linear theory

Choose the correct answer from the options given below :
@ A, Band C only
@ A, B and E only
@ A, D and E only

@ A and E only



frfafiaa & & @ & faga wg fawm % W &7

@) E g
B) = faga
() e faga
(D) Fyw fage
(B) one fagia

forer fow e forepedt & & @l 37 1 = Al
(1 Had A, B3R C

2) Fad A, B3R E

@) FaA A, DRE

@) Fad A AR E

1[Option ID=20605]
2[Option ID=20606]
3[Option ID=20607]
4[Option ID=20608]

Sl. No.103
QBID:471053

Which of the following National Sports events are held under Khelo India?

(A) Khelo India Youth games

(B) Khelo India University games
(&) Khelo India Women games
(D) Khelo India Winter games

(E) Khelo India Rural games

Choose the most appropriate answer from the options given below :

@ A, Band E only
@ A and B only

@ A, Band D only

@ A, B and C only



Tl 3fea FEHH % I fihd O | HiI9 § UEE Wl 1 TS S S 2 7

(A)
B)
©)
D)
()

Qdl 3fea 39 T
gl sfean gFafid =
adi 3fean fio
CRIMERIRS TR

= fau o fospedt & @ w9 3UgH ST =T I
) %ad A, B3R E

2) Fad A IR B

3 Fad A, B3R D

@ Fad A, B3 C

1[Option ID=20609]
2[Option ID=20610]
3[Option ID=20611]
4[Option ID=20612]

Sl. No.104

QBID:471054

Which of the following are the objectives of FIT INDIA movement?

(A)
(B)
(©)
D)
(E)

To promote fitness as easy, fun and free
To promote first aid knowledge

To encourage indigenous sports

To make fitness reach every school, village

To create platform for Citizens of India for sharing of personal fitness stories

Choose the most appropriate answer from the options given below :

@ A, Cand D only
@ A, C and E only
® A, B, C and D only

@ A, C,D and E only



e & & 1 ¥ e 3fea govie & ey €7

(A) T, B 3 RS % dR T TRl I e Al

(B) Wl IUER F JH H HIEH

(C) wIRf @al i Sreatted w1

(D) v faaem, ma a% TEE & AhEm
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fre fau o foeredt & & @@ S9ge I 1 T Fife

@ FFd A, C R D
@ FaAA, CHATE
@ HIAA, B, C3D
@ Fad A, C,D3IME

1[Option ID=20613]
2[Option ID=20614]
3[Option ID=20615]
4[Option ID=20616]

Sl. No.105
QBID:471055

Which of the followings are correct?

(A) The Centennial Olympic games were held in Atlanta
(B)  In 1896 Olympic 317 athlete participated

(©) In 1896 Olympic 11 Nations Competed

(D)  In the Centennial Olympic 197 Nations competed

Choose the most appropriate answer from the options given below :
@ A, Band C only

@ A, Cand D only

@ B, Cand D only

@ A and C only

frifera & @ #7 @ FuA wdl 27

(A) AT fiEtus Gl F TR ATl § ol

(B) =¥ 1896 T Eifoa wifisr § 317 wyefie 3 9 formm)
(C) =9 1896 H IS fiwifys # 11 TP # whreasi g§ o
(D) vl s § 197 9 # wfvergh &)

= fau e foereul § O T 3UgwH S 1 =E IS

(1) FHad A, Bafw C
@ Fad A, C 3D



® Y@ B, C kD
@ Fad A IR C

1[Option ID=20617]
2[Option ID=20618]
3[Option ID=20619]
4[Option ID=20620]

Sl. No.106
QBID:471056

Obesity is a disease caused due to :

(A) Genetic factors
(B) Physical inactivity
© Eating habits

(D) Unhygienic conditions

Choose the correct answer from the options given below :
@ A, B, Conly

@ A, C, D only

@ C, D only

@ B, C, D only
Hrerar T 1wy e R

(A) T FEH

B) =i sifEE
(C) @H-9H H aEd
(D) zreT=s ferfmt

o fou o fasredt @ ot 3O 1 =99 hifse

@ FHFd A, B, C
@ Had A, C,D
@ % C, D

@ Haa B, C, D

1[Option ID=20621]
2[Option ID=20622]
3[Option ID=20623]
4[Option ID=20624]

Sl. No.107
QBID:471057




The more serious aspect of water pollution is caused by human activity which are

(A) Sewage, industrial and trade wastes
(B)  Automobiles, Wood and coal
(C)  Agricultural pollutants and physical pollutants

(D)  Thermal and radioactive substances

Choose the correct answer from the options given below :

a A, B, Conly
@ D, A, Bonly
@ A, C, D only

@ B, C, D only
STl TN % STcAfie TR TEe 1 FHROT A HEFAT 8, S E

(A) Herod, NS T8 SR HeEl
(B)  STRIMETEeH, AHSI UF HIFC

(C) FhwaHh ygus va Wifts wgus
(D) i uE e o g

fr fow o foamredt # & @t I A1 o Al
W Fad A, B, C
@ Haa D, A, B
® Faa A, C,D
@) %ad B, C, D

1[Option ID=20625]
2[Option ID=20626]
3[Option ID=20627]
4[Option ID=20628]

Sl. No.108
QBID:471058




The virus of chicken pox occurs in the :

(A) Nails of the body

(B) Oropharyngeal secretions
(©) Lesions of skin

(D) Mucosa

(E) Hair

Choose the correct answer from the options given below :
@ A, B, Conly
@ B, C, D only
@ E, D, Conly
@ C, A, E only

ek % fermo] Ferferfiaa 9 g 2
(A) ¥R % ArEd
(B)  H@-%3d ®

(C) o= Squed
(D) YIS

(E) ==

= feu o faeneal § @ w& 3¢ 1 ==a fifsu

@ Fad A, B, C
@ %ad B, C, D
@ @&ad E, D, C
@ %ad C, A, E

1[Option ID=20629]
2[Option ID=20630]
3[Option ID=20631]
4[Option ID=20632]
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If a muscle shortens immediately after a stretch :

(A) Force and power output increases
(B) Energy expenditure decreases
(©) Endurance output increases

(D) Explosive power output decreases

Choose the correct answer from the options given below :

@ A and B only
@ A and D only

@ B and D only
@ A and C only

afq = < qd a1 HEYeh Tt 8 St g v

(A) =« R ufe # vfawa sear 2l
(B) Tl =T g 2

(C) @& wiawa sed 2

D) frerd ufw gfawa gedn 2|

o= feu e fosheal & @ @@l I 1 9 i

@ Had A 3B
@ had A R D
@ shad B 3 D
@ Fad A 3R C

1[Option ID=20633]
2[Option ID=20634]
3[Option ID=20635]
4[Option ID=20636]
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Which are the correct statements related to flexibility?

(A)
(B)
(©)

D)
(E)

With the increase in age it also increases
Children are more flexible than adults

Some degree of Co-ordination of different joint movement is a necessary prerequisif
for a greater amplitude

Flexibility is to a significant extent age dependent

Due to sex differences and differences in structure of joints, men are less flexible i
comparison to women

Choose the most appropriate answer from the options given below :

@ C, D, E, Bonly

@ A E,D, B only
@ A, B, C, E only

@ D,A,B,E,C

T & Heiftrd el HUH HH H 37

(A) T T & "-|nY 98 Wt s 2|

(B) &k Afwal il qor | =il § At g g 2|

(C) I 3™ % fore fafte afri & doo § 39 &8 T 9999 g1 STavash Id -31uaT 8|

(D) G SEd € a3 e e R

(B)  <ifree fimar 3k gfa & awaqn § fasg 89 % $ro Afgensti S gt 3 9ENl sl g |

Bt gl

= e U foeredt ® @ Ge@ IUFRE 3T 1 TIH I

@ %ad C,D, E, B
@ %ad A, E, D, B
@ Hada A, B, C, E
@« D,A B E,C

1[Option ID=20637]
2[Option ID=20638]
3[Option ID=20639]
4[Option ID=20640]
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The cyclicity of training are :

(A) Macro cycle
(B) Bicycle

(C) Meso cycle
(D) Tri cycle
(E) Micro cycle

Choose the most appropriate answer from the options given below :
@ B, D, E only

@ A, B, D only
@ A, C, E only

@ D, C, Bonly
gfsrean & Yo wEhEd &
(A) T wIERRA
(B) =3 wsfehet
(C) ot wsfeRa
(D) o8 |Efehet
(E)  wrgshl Arsfenet

f=r fou o forereat # @ waifies Iugw S 1 = i
@ @Had B, D, E
@ Had A, B, D
@ Haa A, C, E
@ Fad D, C, B

1[Option ID=20641]
2[Option ID=20642]
3[Option ID=20643]
4[Option ID=20644]
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Which of the followings are correct about measures of Central Tendency mean?

(A) Mean is the most reliable and accurate measures of Central Tendency
(B) Mean is needed to compute further statistics like coefficient of correlation

(C)  Mean has least stability as there are less fluctuations in the means of the sample

drawn from the same population

(D)  Mean can be calculated graphically

Choose the most appropriate answer from the options given below :
@ A and B only
@ A, B and C only
@ B, Cand D only

@ A, Cand D only

fretforfiaa & @ 9 "7 it qreTam % wToehi % gey | e 27

(A) = i o fovae ot 98 9d A 6 2l

(B) W SATHST I TR F UM I GUFT B HIEAHH Hl AEIIHRAT 2l 2|

(C) wieawH ¥ feomar &7 2t 2 i a0H Sae 9d ¥ fau u ufaewn & weat & =9 feem =
g 3 |

(D)  wree i o wiees fafy & 6 S EeRd 2

fo=r fou T foeredl # 9 we® 3w ST T T A

@ Hhad A IR B
@ had A, B 3R C
() FHEA B CHLD

@ shad A, C 3D

1[Option ID=20645]
2[Option ID=20646]
3[Option ID=20647]
4[Option ID=20648]
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Which of the following are correct about conceptual research?

(A) It is based on logical thinking
(B) Conceptual research is another name of Philosophical research
(©) Conceptual research is type of experimental research

(D) It is a systematic and disciplined way of examining abstract ideas

Choose the most appropriate answer from the options given below :

@ A and B only
@ A, B and C only
@ B, Cand D only
@ A, Band D only
HehoudT TG ¥ % Gad ¥ ffcifiad § & -+ ° &9 98l & ¢

A) ¥ TR e T i g 2|

(B) e STuTRa S Fifes Wy 1 & gEa A )
(C)  ThoUdT TG Y YHNTICH I F1 T8 2

(D) 98 Tk GRyd foeil =1 sFafeya 3t sentia wlem 2|

= fou T Tl # o He9 3T 3T T T I

@ Had A B

@ Had A, B3 C
@ %aad B, C 3D
@ wHad A, B3R D

1[Option ID=20649]
2[Option ID=20650]
3[Option ID=20651]
4[Option ID=20652]
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Which of the following are correct about Skewness and Kurtosis?

(A) In the negative skewness curve inclines more to the right
(B) In the positive skewness curve inclines more to the left side
(©) Normal curve is Leptokurtic

(D) The value of Kurtosis for normal curve is 0.263

(E) If a curve is flatter to normal it is Platykurtic

Choose the most appropriate answer from the options given below :
@ A, B, Cand D only
@ A, Band D only

® A, B, C and E only
@ D and E only

STEIAT AT ThaT-HTT % Tog § fARGd | hF @ 87

(A)  THRIHS VIl % 95 alfe-l ST A4 Foht ardl 2l

(B)  EHRIHS d9HIAT H a3k SR 31 e g aral 2l

(C) | I3 AGEEH (AIH) Frar 2

(D) AMT 9% % T ThAT-TET (FEAE) FHAF 0.263 T 2

(B) afz X 3% Ture & am= 2 ot 98 ffes-a% (Sdwds) 2 2

o= fou U foeredt & @ Te® IUFTH ITT 1 TIH I

@ wad A, B, C 3D
@ had A, B s D
@ Had A, B, C 3 E
@ Hada D I E

1[Option ID=20653]
2[Option ID=20654]
3[Option ID=20655]
4[Option ID=20656]
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Which of the following represent Standard Error of Measurement (SEM)?

(A)
(B)
(©
(D)

Validity Statistic
Degree to which a person’s score change as a result of errors of measurement
Reliability Statistic

Estimated score vary from the Criterion score

Choose the correct answer from the options given below :

@ A, Band D only
@ B, Cand D only
@ Cand D only

@ B and C only
fr=fafaa & @ =9 A9 6t 9 q (T8 § ™) F T Hwar a7

(A)
(B)

©

(D)

3iepe I dyar
uftaTy Jfe & woreasy 5@ wmr as =t % JTHTS § 9iEdd giar 8
Atehe 6t frvaadiaan

Tehe ITHT HH&S ITHieh | fie arar 8

e o U foeredt & o TE 3T 1 991 Hif

@ Fad A, B3R D
@ shad B, C 3D
@ FHad C 3 D
@ Had B 3R C

1[Option ID=20657]
2[Option ID=20658]
3[Option ID=20659]
4[Option ID=20660]

Sl. No.116
QBID:471066



Which is the item of Competitive State Anxiety Inventory — 2 (CSAI-2) by Martens, Vea!
and Burton (1990)?

(A) I am concerned about performing poorly

(B) Before I compete I feel relaxed

(C) I feel at ease

(D) I feel Jittery

Choose the correct answer from the options given below :

@ A, B and D only
@ A, B and C only
@ A, Cand D only
@ B, C and D only

ured, faeft i 589 (1990) g Wea i fomare= stasen & agg-2 (W W U efE-2) fi T
4 H 77

A) T3 9 2 T AU e st w0 T @ 9™
(B)  wiawagl @ q& § foerfa wegqe = @5
(©) 99 gEEqld & & 2

D) T TEH AT 7

= feu o faeeai § @ 9 3O 1 w=a difse

@ FHad A, B3w D
@ Had A, B 3R C
@ whad A, C 3D
@ had B, C 3D

1[Option ID=20661]
2[Option ID=20662]
3[Option ID=20663]
4[Option ID=20664]
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Which are the items of Loehr’s (1986) Psychological Performance Inventory to assess ment
toughness?

(A) Setting goal is important when competing

(B) I practice with high intensity

(©) I get angry and frustrated during competition

(D) I see myself as more of a loser than a winner in competition

Choose the correct answer from the options given below :

@ A, Cand D only

@ B, Cand D only

@ Band D only

@ A, BandD only

AHRE gedl % qodArhd &g @il (1986) FRT SRAWIfGd HAISRG wRifsIed siqawg H oW O
4 H 87

(A  wfaerst % g @ Rl ggegol g )

(B) # I vaaal ¥ FIVITH FA1 3 |

(C)  witeaer 3 g # shifea i f &1 S €

(D) & *19" o9 wfoesl & foom % sge Wi g4 a6 ®9 | o@d §)

e feu o foepeut § @ @t ST 1 A Fifsu

@ FHad A, C AR D
@ had B, C 3 D
@ had B 3R D

@ haad A, B3 D

1[Option ID=20665]
2[Option ID=20666]
3[Option ID=20667]
4[Option ID=20668]
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Which of the following principle of management is not given by Henri Fayol?

(A) Esprit de corps
(B) Unity of people
(© Division of work
(D) Scalar chain

(E) Management

Choose the correct answer from the options given below :
@ B, E only
@ C, D only
@ E, A only
@ E, Conly

&8l eiter Freifer & @ forn e forgia 6 e 87
A)  ufefe € w

(B) AR 31 wfige

(C) Tefaem =1ts o

(D)  WheR =F

(E) &

= feu o foepeat § 9 @ 3T &1 = FHifvw

@ had B 3T E
@ had C AR D
@ A E HAXA
@ % E R C

1[Option ID=20669]
2[Option ID=20670]
3[Option ID=20671]
4[Option ID=20672]
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Which of the following steps are involved in preliminary equipment purchase?

(A) Procurement policy
(B) Purchase cards
(C) Negotiating

(D) Requisition

Choose the correct answer from the options given below :
@ A, Bonly
@ C, Bonly
@ B, D only
@ A, D only
7 ¥ % | ST i GG | g4 o = H WA & 7

(A) Aty Hifa
(B) Elg FE
(C) gt e

(D)  HF 9F TG HEAT

ﬁ%mmﬁwﬁﬁﬁ@wwﬁﬁqz
@ Had A, B
@ %ad C, B
@ Fad B, D
@ FHaad A, D

1[Option ID=20673]
2[Option ID=20674]
3[Option ID=20675]
4[Option ID=20676]
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Select the components of supervision from given below:

(A) Supervision is an intervention
(B) Supervision is provided by a senior member a profession
(©) Supervision is a continuous process

(D) Supervision is a relationship between the supervisor and the supervisee

Choose the correct answer from the options given below :
@ B, C, D only

@ A, B, Conly

@ C, D, A only

@ A, B, D only

Frevifira & @ whiam ¥ e g -

(A) w0 gEE 2|

(B) e sgoam 4 afts gee qdaeor waf #d 2
(C) A& U waq iR 2l

D) ydaEw wiages it wiaeh sufral & Hea g9y 2|

e feu o faeeat § 9 g€ S 1 999 difse

@ %ad B, C, D
@ Had A, B, C
® %ad C, D, A
@ &adA A, B, D

1[Option ID=20677]
2[Option ID=20678]
3[Option ID=20679]
4[Option ID=20680]
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Match List I with List II;

List I

Hormone
(A) Prolactin (PRL)
(B) Oxytocin
(C) Cortisol

(D) Parathormone

List II

Control of Secretion
(I) Hypothalamic Sensory
(II) ACTH Stress
(III) Hypothalamic inhibiting

(IV) Plasma calcium

Choose the correct answer from the options given below :

@ (A)-(D, (B)-(ID), (C)-(1V), (D)-(D)
@ (A)-(I1ID), (B)-D), (O)-aD), D)-AV)
@ (A)-(IV), (B)-(11), (C)-(1L), (D)-(1)
@ (A)-0D, B)-ID), (C)-D), (D)-(AV)
T 1 o Ty = 1T = T Fifs)

-1
R

(A) e (i T Te)

(B) A

(C) wHifdara

(D) UTUEE

= fer o fomreal 4 9 98 ST = =94 i

@ (A)-(D), (B)-A1I), (C)-(IV), (D))
@ (A)-(1D), (B)-(D), (C)-(I), (D)-(IV)
@ (A)-(1V), (B)-(1I), (C)-A1L), (D)-(I)
@ (A)-(ID), (B)-A1I), (C)-(), (D)-(IV)

1[Option ID=20681]
2[Option ID=20682]
3[Option ID=20683]
4[Option ID=20684]

1T
LICAEREL|
O eEmdfers I
D) T A
(I11) grguidfciss sfafod sfferian
(IV) v Ficsrm
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Match List I with List I1:

List I List 11
Theory Proponents of the theory
(A) Catastrophe theory (I)  Yuvi Hanin
(B) Individual zone of optimal functioning (II) Fazey and Hardy
theory
(C) Directionality theory (IIT) Jones
(D) Reversal theory (IV) Apter

Choose the correct answer from the options given below :

(™

W (A)-(D, (B)-A1I), (C)-aD), (D)-(IV)
) (A)-IV), (B)-(ID), (C)-AD), (D)-I)
) (A)-(I), (B)-(ID), (C)-(D), (D)-AV)

) (A)-aD, (B)-A), (C)-(I1D), (D)-(IV)

N

(

(

W

»H

(

gt 1 i g=h 11 6 gafora Aifsm)
g1 =11
(frgia) (Rrgra =)
() foe=m-fagm O Fh e
(B) SEd9 Ul 1 A0 &7 fugid D) el i gt
(C) e faga (II1) <=
(D) fauda fagra IV) T
e feu mu foepeut § 9 o) 3T 1 == Hifsu

W  (A)-(D), (B)-AID), (C)-aD), (D)-IV)
@ A)-IV), (B)-(1D), (C)-1), (D)-(I)
@) (A)-(ILD), (B)-(1D), (C)-(D), (D)-(AV)
@ (A)-ID), B)-), (C)-(1LL), (D)-(IV)

1[Option ID=20685]
2[Option ID=20686]
3[Option ID=20687]
4[Option ID=20688]
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Match List I with List II:

@A)
B)
©)

@)

List I
SAI Schemes

National Centres of Excellence
SAI Training Center
Extension Centres of STC

National Sports Talent Contest

M
(ID
(11D

av)

List I1
Aim
Grooming junior level sports persons
To scout sports talent from schools

To train athletes to achieve excellence
in Olympics

To develop sports standard in schools
and colleges

Choose the correct answer from the options given below :

@ (A)-1), (B)-(1D), (C)-D), (D)-AV)
@ (A)-(ID), (B)-(D), (C)-(D), (D)-AV)
@ (A)-ID, B)-(D), (C)-(IV), (D)-(IL)
@ (A)-(IV), (B)-(I1I), (C)-(ID), (D)-(I)

= 1% =1 = 11 1 e Sifs

A)

B)
©)

D)

-1
W e R A =

IS Tl AT TR

|1 RIET %
wEdH % foer g

Yo T e S

Tei-11
EEEE)
1) SIfER TEe & faersal o o) FE & o
3 3fura fdreqor &
(ID) foreneEt & T gfauT 1 TS AT
(II1) nfafies gl § Sepwar 61 i 2g Tl
= gf¥Tfara
AV) foemeri R werfoemedi # Wa wHe
Tarhfaa AT

e feu o foereut # @ @ 3T w1 wEa v

@ (A)-D, (B)-(1D), (C)-D), (D)-(IV)
@ (A)-1D, (B)-ID), (C)-(D), (D)-IV)
@ (A)-(ID), B)-(D), (C)-(IV), (D)-(IL)
@ (A)-(IV), (B)-(I1D), (C)-(ID), (D)-(I)

1[Option ID=20689]
2[Option ID=20690]
3[Option ID=20691]
4[Option ID=20692]
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Match List I with List IT :

List I

Disease
(A) Malaria )]
(B) Chicken pox (1)
(C) Small pox (I1D)
(D) Cholera Iv)

List IT

Virus
Variola virus
Parasite
Bacteria

Zoster virus

Choose the correct answer from the options given below :

™

(

) (A)-D), (B)-AD), (C)-(IV), (D)-(I1I)
)y (A)-aD, (B)-AID), (C)-AV), (D)-(D)
)y (A)-D), (B)-AV), (C)-(D), (D)-(I1L)
) (A)-AV), (B)-(D), (O)-AID), (D)-(ID)

= 1 a1y g 11 o faam ifs

Hel-1
T
(A)  wofEn
(B) =%
(C) T
(D)  AferEm (&)

N

(

(

W

»H

(

5= fou o ooyl A @ @& I 1 5= i

(™

@ (A)-@), (B)-D), (C)-AV), (D)-(I1II)
) (A)-ID), (B)-(IID), (C)-AV), (D)-(D)
)y (A)-AD, (B)-AV), (O)-(I), (D)-(I1I)

) (A)-IV), (B)-(D), (O)-ID), (D)-(II)

(

N

W

(

»H

(

1[Option ID=20693]
2[Option ID=20694]
3[Option ID=20695]
4[Option ID=20696]
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Match List I with List II :

List 1

Term
(A) Orientation ability @D
(B) Coupling ability In
(C) Balance ability (I10)
(D) Rhythmic ability Iv)

List 11
Meaning

Maintain Balance during whole body
movement

Reproduce it in Motor Action

Change the position and movement of
the body

Co-ordinate body part movement

Choose the correct answer from the options given below :

@ (A)-D, (B)-(D), (C)-(ID), (D)-(IV)
@ (A)-(D, (B)-AV), (C)-D), (D)-(11)
@ (A)-IV), (B)-(D), (C)-(D), (D)-(I1L)
@ (A)-(IID, (B)-), (C)-(D), (D)-(IV)

Tt 1 o sy = 11 o1 e fifs
-1
g

(A) fEeR A

B) Fr A

(C) Hga awgan

(D) = AT

11

a1
@ R IR F Goed & G Tqe T TG
AD) woeH frm § 38 q4: Teqa HE
(IIT) YR T ggT 7 36 doeH | uiad
(IV) s 3 o Heed o 99

e feu o foepeut & & Tt SO @ 99w Hifsw

@ (A)-D), (B)-ID), (C)-1I), (D)-(IV)
@ (A)-(IID), (B)-AV), (C)-(D), (D)-(II)
@ (A)-IV), (B)-AD, (C)-(D), (D)-(I1L)
@ (A)-(IID), (B)-(D), (C)-(ID), (D)-IV)

1[Option ID=20697]
2[Option ID=20698]
3[Option ID=20699]
4[Option ID=20700]
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Match List I with List II:

List I

Standard scores
(A) Stanine 4))
(B) C — Scores (II)
(C) T — Scores (I1T)
(D) Sigma — Scores (Iv)

Last II
Scale

20 to 80
1to9

— 36 to + 36
0to 10

Choose the correct answer from the options given below :

W (A)-AV), (B)-AD, (C)-D), (D)-(1II)
@ (A)-1D, (B)-AV), (C)-(D, (D)-(1ID)
@ (A)-(ID), (B)-(IV), (C)~(I1I), (D)-(D)

@ (A)-1V), (B)-AD), (C)-(I1I), (D)-(T)

T 1 Ty g=h 11 o fiem fifs
-1
U 37
(A) A=A
(B) Hi-w=nd
(C) d-w=rg
(D) Tga-w=hE
fra feu o faeneat # 9 9 S 1 w=a difse

W (A)-1V), (B)-AD), (C)-(D), (D)-(1D)
@ (A)-aD, B)-AV), (C)-(D), (D)-(I1D)
@ (A)-(ID), (B)-(IV), (O)-(1D), (D)-1)

@ (A)-0V), (B)-AD, (C)-1I), (D)-)

1[Option ID=20701]
2[Option ID=20702]
3[Option ID=20703]
4[Option ID=20704]

-1
g
I 20980
I 139

(IIT) — 369 + 36
(IV) 0¥ 10
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Match List I with List II:

List I List IT

(A) General motor ability (I)  One’s acquired and innate ability to
display fundamental motor skills

(B) Motor fitness (I)  One’s inborn ability to learn complex
motor performance

(C) Motor educability (IIT) One’s ability to perform efficiently
basic motor skills

(D) Motor capacity (IV) One’s ability to quickly learn

unfamiliar motor skills

Choose the correct answer from the options given below :

@ (A)-D), (B)-(I), (C)-(IV), (D)-(I1I)
@ (A)-(D), (B)-(D), (C)-(II), (D)-IV)
@) (A)-(IID), (B)-(D), (C)-(IV), (D)-(II)
@ (A)-D), (B)-(ID, (C)-1V), (D)-AD)

=t 1% @ = 11 & e $ifs
=1

(A) W oA AT

(B) dacH TEYAr

(C) g Heaeydr

(D) daeH &Har

= feg o foereat § @ &8 3 w1 === s

@ (A)-D, (B)-D, (C)-AV), (D)-(1I)
@ (A)-D), (B)-(D), (C)-(1D), (D)-IV)
@ (A)-(IID), (B)-(D), (C)-AV), (D)-(ID)
@ (A)-(D), (B)-(LLD), (O)-AV), D)-(1L)

1[Option ID=20705]
2[Option ID=20706]
3[Option ID=20707]
4[Option ID=20708]

g-II
M) Tt =afth grr qeryd T9eH Hie JeeH &
FAfStd 3T SAdsiia v
1) ferft =afe 6 Sfeer guea fsea « dfiee
Y TSI ST
A1l et =afe g1 FoedEs qayd dack
v fsareq <hi emar

(IV) Tt safer &t smfifad g=oH S = 9
T Higa i emar
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Match Last I with List 11:

ListI
(A) Harold Koontz I
(B) Donald J. Cough II)
(C) Henri Fayol (I1D)
(D) Theo Haimann and William Scott Iv)

List IT

Art and science of decision making and
leadership

Management is a social and technical
process

Art of getting things done through and
with people

Manage is to forecast, to plan to
organise

Choose the correct answer from the options given below :

@ (A)-(ID), (B)-(I), (O)-(D), (D)-IV)
@ (A)-(ID), (B)-(I), (O)-(IV), (D)-(IT)
@ (A)-(D), (B)-(I1D), (C)-AV), (D)-(II)
@ (A)-D, (B)-IID), (C)-(I), (D)-(IV)

T 1% T = 11 o T fifs
gHi-1

(A) e FF

(B) SHE J. F%

(C) &0 %I

(D) form B89 3 fafew wic

-1
@ ol o= R Agca i wer o o
(1) &g IS SR ae-eh iR 2l

(II) T o H1eam § 3 39k 919 =il i -
EACTI

(V) YEgT qEIHE AT, FSHT SHET 3T Tl
FT 2

= feu U faecal # 9 9 39 o =9 il

@ (A)-(ID), (B)-(I), (O)-(D), (D)-IV)
@ (A)-(ID), (B)-(I), (O)-AV), (D)-(II)
@ (A)-(D, (B)-(1I), (C)-(IV), (D)-(II)
@ (A)-@), (B)-ID), (C)-(D), (D)-(IV)

1[Option ID=20709]
2[Option ID=20710]
3[Option ID=20711]
4[Option ID=20712]

Sl. No.129
QBID:471079



Arrange guidelines for Diet planning in general :

(A) Energetic of Diet

(B) Timing of Diet

(©) Fluid and Fiber control
(D)  Blandness of Diet

(E) Psychological aspect of Diet

Choose the correct answer from the options given below :

@ ACD, B E
@ A B C,DE
e AD,C B E
@ B,C,DAE

TG MER A1 & e fgen-fader = gerafeya fifs

(A)  FEUH SRR

(B) R =1 @HI

(C) e ud wis =
(D) SRR i gad

(E)  3ARR % HAE- 98],

= few 7o faeegi § @ 9 39 w1 =99 ifse

@ ACD, B, E
@ A B C,DE
e A D,C B E
@ B,C,DAE

1[Option ID=20713]
2[Option ID=20714]
3[Option ID=20715]
4[Option ID=20716]

Sl. No.130
QBID:471080

Human body movement analysis will be done with which steps?

(A) Need an axis of rotation
(B) Movement taken place in a surface
(C) Better done with explanation in plane

(D) All movement will be made with axis

Choose the correct answer from the options given below :

(1)



A B,C,D
@ B,C,DA
@ B,ACD
® A CD,B

qHd IR gactq foeeyor & = 4 9 87

(A) U % 3781 I AETIRAT
(B) U8 W TR T HEOH
(C) Gde Y (H) W AT % %ol LY Sgal Jiath

D) ot geeH 2187 @ ford S

= fer o fooreat 4 9 98 3T @1 =999 e
@ ABCD
@ B,C,DA
e B,ACD
@ A CD,B

1[Option ID=20717]
2[Option ID=20718]
3[Option ID=20719]
4[Option ID=20720]

Sl. No.131
QBID:471081

Arrange the following people who have contributed in the development of Physical Education

and sports in Germany from first to last.

(A) Guts Muths
(B) Spiess
()] Basedow

(D) Jahn

Choose the correct answer from the options given below :

@ A B,D,C
@ C,A DB
3 C,D,A B
@ A D,B,C




freifera saferal ot Iy @ 379 & 9 A sFarfeya hifse e st 9 wrdifer fren stk @ & o
79T e fean 3

(A) T "
B) fom

(C) Fmr
M) N

frar fou e faehedt # & |t 3ax o1 @z hifsie
@ A B D,C
@ C,A,D,B
e C,D,AB
@ A D B,C

1[Option ID=20721]
2[Option ID=20722]
3[Option ID=20723]
4[Option ID=20724]

Sl. No.132
QBID:471082

Arrange the following Training process in a correct sequence :

(A) Warm up
(B) Rest pause
©) Sequence of exercises and task

(D) Cool down

Choose the correct answer from the options given below :

@ A BCD
@ B,C,AD
3 AC B D
@ D,C,A B

SfTET < FAToha TRl 1 |El W H SAafedd fohse :

(A) I 3w

B) oz form

(C) ATl ol A IR HE
(D) % 1A ()

= feu 7 foereat 4 4 @@t 3o =1 999 S



) ABICD
@ B,C,AD
3 A C BD
@ D,C,A B

1[Option ID=20725]
2[Option ID=20726]
3[Option ID=20727]
4[Option ID=20728]

Sl. No.133
QBID:471083

Arrange the steps of Philosophical Research methods in a sequence from first to last.

(A) Envisioning of relationship
(B) Selection of suitable topic
(®) Defining the problem

(D) Identifying problem area
(E) Formulation of Hypothesis

() Outlining procedures of data collection

Choose the correct answer from the options given below :
@ D B EAC,F
@ D,B,ACF,E
3 D ,BCEATF
@ B,D,E, A CF

enifeh JIHY UGl & WUMT 1 A 0 § Fafedd i
(A)  uferfcua gy

(B) 39 itk 1 I

(C) o sl qRwTNa e

(D) T & S ugEH

(E)  wehout fmior

(F)  SATehel SR <l Ufshanadi =l T@ifehd e

= fau MU foeredt # 9 Tl I w1 9 A
@ DB EACF
@ D,B,ACFE
e D,BCEATF
@ B,D,E,AC,F

1[Option ID=20729]
2[Option ID=20730]
3[Option ID=20731]
4[Option ID=20732]

Sl. No.134
QBID:471084




Arrange the following tests in ascending order of the year in which these were constructed?

(A) Chang Badminton Test

(B) Harrison Basketball Test

(C) Barrow Motor Ability Test
(D) Vermont School Fitness Test
(E) Jhonson Soccer Test

Choose the correct answer from the options given below :

@ C, E A BD
@ ECBAD
®» CEBDA
@ C,E BAD

feferfad wen ot 3 fmio oy & T 9 | uafedq $ifm ?
(A) = SSfaeed gheo

(B)  B0H SrehesTel GeTor

(C) =0 = Afemar wdeo

(D)  SHI=C Tkl TTEIAT e

(B) 94 gisht wligon

fr=r feu o fheut & @ TEt 3T w1 59 Hif

@ C E A BD
@ E,C,BAD
®» CEBDA
@ CEDBAD

1[Option ID=20733]
2[Option ID=20734]
3[Option ID=20735]
4[Option ID=20736]

Sl. No.135
QBID:471085

Given below are two statements: One is labelled as Assertion A and the other is labelled as

Reason R
Assertion (A) : Adapted Physical activity is concerned with the preparation of teachers to
provide programme and services for individuals with disabilities.

Reason (R) : The adapted physical educators have a specific role in designing plan for
people with disabilities so that students can participate to their fullest

capacity in physical education activities.

In the light of the above statements, choose the correct answer from the options given below:

1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2 Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3)



(A) 1s true but (R) 1s false

4 (A) 1s false but (R) 1s true

A= & %M U T § : OF AfUHUE (Assertion A) % ¥4 # faiRad @ a1 gHU 3@ FNU (Reason R)
E‘?ﬁ

FIfireReE (A) JAYATE M wifes framehera fieh /fesam safral 6 Tiom TR g9 wem wE % o
f3Tereht 1 IR H | Fefea 2|

FT (R) : SR ST feqehl <l 13k /feeam satwal & i eifiered FieFT 4R 3
faftre yfer el @ i fornefl ool seam &wWar &1 WA i ge Wi R
FHRIEHATT § 9T o Tk |

IYUTh Y o ATl H, = 72U U fsment ¥ 9 98 3w @ wEe i

® (A) 3N (R) 21 @ 2 3 (R), (A) h @ =ame 2

@ (A) 3R (R) 3H1 ¥ 3, Al (R), (A) I Hel =ame 72 @

@ (A) T g, AR (R) 30T 8

@ (A) 318 2, Al (R) 99 &

1[Option ID=20737]
2[Option ID=20738]
3[Option ID=20739]
4[Option ID=20740]

Sl. No.136
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Given below are two statements:

Statement (I):  In projectile, if velocity of release and height of release and landing is same

then range will be same if the object is released at 30° and 60°.

Statement (II) :  In shot-put range will be maximum when the angle of release is 45° or

more than 45°.

In the light of the above statements, choose the correct answer from the options given below:

1)y Both Statement (I) and Statement (1I) are true
2 Both Statement (I) and Statement (II) are false

(3 Statement (I) is true but Statement (II) is false

@) Statement (I) is false but Statement (1) is true




= 3 wem few e 2 -

%o (I) : TEUE T Al Drg 1 A 3N Bigd il ST TS JAFTIRU F9H 8 a1 WE THH 20 3
&g 1 30° TH 60° F BT T &

%7 (10) IMCYE § I(Z DTS HT DIV 45° FAYGT 45° @ Afeeh & q1 q0d SATeshad i

SUIE A o AT |, 9 U U foehewt § 8 98 I w999 i

@ FHIA () 3 (1) gHT deT B

@ o (1) 3R (1) 21 37/8ed 8

@ HUA (I) T 2, Sifehd HA (11) 38 2
@ F9 (I) I9A 8, Afehd He (1) T 2

1[Option ID=20741]
2[Option ID=20742]
3[Option ID=20743]
4[Option ID=20744]

Sl. No.137
QBID:471087

Given below are two statements: One is labelled as Assertion A and the other is labelled as

Reason R
Assertion (A) : Coaches skillfully use external rewards to build intrinsic motivation.
Reason (R) : Rewards can raise intrinsic motivation if they are based on meaningful

accomplishments and thus raise perceived competence.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2 Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3 (A) is true but (R) is false

) (A) 1s false but (R) is true

fr= & e f3u T E : wE AR (Assertion A) % ¥4 # faiRgd @ a1 gEU 36 WU (Reason R)
w9 H :

afiyered (A) i Tafes i fmior & foTe smer quehrl <1 STl gdeh 39T Hd 2l

%107 (R) YRl o HeRaEq ST IR # gy @ wdi ® afg o wede Iuwfer
TG & 3 39 TR WTcaieqeh SAMTHaT sig ATl 2|

3WITh Y o 3Tl H, A< feu Tu fawedt ¥ @ 98 3w &1 999 Fifu
@ (A) 3 (R) ZHT 9 3 31 (R), (A) I T8 =aw= 2

(2)




(A) 3R (R) 3Hi @ €, wfh (R), (A) 1 Hel =ame Te &

@ (A) 9 %, TR (R) 319 %

@ (A) 378 2, A (R) TcF &

1[Option ID=20745]
2[Option ID=20746]
3[Option ID=20747]
4[Option ID=20748]

Sl. No.138
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Given below are two statements:

Statement (I) :  Children have insatiable thirst for physical activity.

Statement (II) : Children dislike skill drills but have craze for strenuous play involving

large muscle activity.

In the light of the above statements, choose the most appropriate answer from the options

given below:
1) Both Statement (I) and Statement (II) are correct
2 Both Statement (I) and Statement (II) are incorrect

3 Statement (I) is correct but Statement (II) is incorrect

4) Statement (I) is incorrect but Statement (II) is correct

:ﬁ%ﬁEIG%ﬁ{QW%:

w97 (D) T H e FrEiwa iy aaw gl 2l

w9 (II) : Tl ! v qEteE (fera fsed) g 2 g 3= om aren o e & s
T at=auiea 8, <1 oot Bl 2

IUTh Y o el H, e G T foskeui § @ o8 Iugw I w1 9 i

@ & (I) 3R (I1) 241 & &
@ YA (T) 3R (11) 21 ToAd 2
@ % (1) T 2, Al e (10) Terd 2
@ &I (1) T 2, AR A (1) 981 2

1[Option ID=20749]
2[Option ID=20750]
3[Option ID=20751]
4[Option ID=20752]

Sl. No.139
QBID:471089




Given below are two statements:

Statement (I) :  Action research requires sophistication neither in design nor

instrumentation nor in procedure.

Statement (IT) : In the Action research all extraneous variables are controlled.

In the light of the above statements, choose the most appropriate answer from the options

given below:

1)y Both Statement (I) and Statement (IT) are correct
2 Both Statement (I) and Statement (II) are incorrect

(3 Statement (I) is correct but Statement (II) 1s incorrect

(4) Statement (I) 1s incorrect but Statement (II) 1s correct

= &1 e feu T E

%4 () : foRaT Sg@ea= & 3 1 A H, 9 & 9 ° R T & uhkar & uftskor i smmaveek
et 2l

%97 (11) : foram s1qaam 4 At smer ftadt =@ o faemr feran smar 21

ITUh YA o ATeNh |, 9 U e fashedi § & god 3ugw ST H1 974 HIWT

@ e (D) 3R (D) 31 &l &

@ I () 3R (1) 2E1 ToAd 2
@ ®IA () T&l &, At A (17) 7Ted 2

@ @A (1) Tod 8, Al %o (10) 981 8

1[Option ID=20753]
2[Option ID=20754]
3[Option ID=20755]
4[Option ID=20756]

Sl. No.140
QBID:471090

Given below are two statements:

Statement (I) :  Face validity can be ignored in test construction.

Statement (I) : Potential user of a test must be totally concerned with statistical evidence
of validity.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (II) are true

2 Both Statement (I) and Statement (II) are false

3 Statement (I) is true but Statement (II) is false

(4)



Statement (I) is false but Statement (II) is true

= 31 s feg U E -

o (D) : wligror Fmior § A=A (Ferh) Audr S 3ue i S w2

Fo (ID) : eI T TUTSH YAIH ST F IATFSTTd WIET F WY EYIF FI A THIAT § Helg
21 e

ITITh YA % el |, A f2u mu fawmeut § @ 6 3w w1 = il

@ g (1) 3 (1) 2! 9 &
@ e (1) 3R (1) 1 a8
@ HYF (1) T 2, Ao %A (1) 319 2

@ HIA (I) 3T 8, Sfehd wed (1) T 2

1[Option ID=20757]
2[Option ID=20758]
3[Option ID=20759]
4[Option ID=20760]

Sl. No.141
QBID:471091

Read the following passage and answer the questions.

Task was given to a physical Educator to evaluate the cardio vascular endurance of college
athelete. For it he conducted Harvard Step test and Cooper — 12-minute walk — running test.
For conducting Harvard test he took 20 — inch high bench and told the student to perform
stepping (Up-up-down-down), 30 times a minute, for 5 minutes. Exactly one minute after
stopping the exercise, the tester counted the pulse from 1 to 1:30, 2 to 2:30 and 3 to 3:30
minutes (three counts). But in some cases he adopted single pulse count method from 1 to
1:30 minutes. Further, he conducted Cooper (1977 and 1982) — 12 minutes walking and
running test and evaluated VO: max. (ml/kg/min) using the total distance covered by the
athletes in 12 minutes. In his evaluation he found three pulse count of Ramesh were 92, 73
and 62 and Suresh 80, 72 and 66. Whereas one pulse count of Mano) was 88 and Peter was
84. Further in Ramesh, Suresh, Manoj and Peter covered 1.750 miles, 1.5 miles, 1.250 miles
and 2.0 miles respectively in 12 minutes.

fr=ferfiaa ey = ue 3T v % I T

T RIS e & steamuesh i meifdene & veeliel o1 gg-anfeHl (Ffea arereR) Ted & Hodisd |
S 9T AT 7| $Heh [T 3814 gEiS w0U 3R FW-12 fome gt i Sftw smfsa 61 geafe 2 o
T 32 20~ 9 Sl == i 3 BT I TH B § 30 IR H g¢ 5 e T R (310-379-375
ST3) i ! el SAH & THH & & 3ih Teh (A 918 26X g A€l T8 <l 7fd (Ieid 12) i 7
18 1:30,282: 303 3F3: 30 fiFe o (i ) fd gu) i 78| Al Fo ama §, 38H
¥ 1 : 30 e 9 Ul ATl o o T et st sEe sifafen, SN W (1977 3 1982
12 Tl a% 2ged @R died it 9= At 3R VO2 max. (Wfa/fem./=man) =1 qoais 12 famed
Ugclel g aF hT TS FA g H ITAT Fd g8 RAT| AT HoAThA § I 9 o e o e TSl &
1 TToET FER: 92, 73 IR 62 qUT T H 80, 72 I 66 T Fafk HAN Y TH AT T 88 M
i1 84 oft| guer fafies, W, G, TS ST dier 9 12 el & sFmsr: 1,750 i, 1.5 Hiw, 1.250

AR 2.0 Wi H gl 7 F



The Fitness index of Ramesh and Manoj will be :

1) 61.98 and 66.08
(2) 63.45 and 67.47
(3) 66.08 and 61.98

4) 67.47 and 63.45

W 3N T o el (fhed) gaem & :

@ 61.98 37 66.08
@ 63.45 3 67.47
@ 66.08 37 61.98
@ 67.47 3R 63.45

1[Option ID=20761]
2[Option ID=20762]
3[Option ID=20763]
4[Option ID=20764]

Sl. No.142
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Read the following passage and answer the questions.

Task was given to a physical Educator to evaluate the cardio vascular endurance of college
athelete. For it he conducted Harvard Step test and Cooper — 12-minute walk — running test.
For conducting Harvard test he took 20 — inch high bench and told the student to perform
stepping (Up-up-down-down), 30 times a minute, for 5 minutes. Exactly one minute after
stopping the exercise, the tester counted the pulse from 1 to 1:30, 2 to 2:30 and 3 to 3:30
minutes (three counts). But in some cases he adopted single pulse count method from 1 to
1:30 minutes. Further, he conducted Cooper (1977 and 1982) — 12 minutes walking and
running test and evaluated VO: max. (ml/kg/min) using the total distance covered by the
athletes in 12 minutes. In his evaluation he found three pulse count of Ramesh were 92, 73
and 62 and Suresh 80, 72 and 66. Whereas one pulse count of Mano) was 88 and Peter was
84. Further in Ramesh, Suresh, Manoj and Peter covered 1.750 miles, 1.5 miles, 1.250 miles
and 2.0 miles respectively in 12 minutes.

fr=ferfiga ey = 9@ 3T gvE % I T

T TRIN e & stemueh i meifdene & veeliel o gg-anfeHl (FIfeal arereR) Te o Hodisd |
el |ir T 1| gk fore S Eis wu i gu- 12 e | W St s i eEte vy 0w
T 32 20~ 9 Sell 5= i 3 BT HI TH A § 30 IR H g¢ 5 e T T (319-379-375
ST3) L ! HFT| AW % THTH B & 31 Uk 59 A1g e g A€l T8 6l i (Y@ 32) &hi 7]
18 1:30,282: 303 3F3: 30 fime oo (i ) fd gu) i 76| Al Fo ama ¥, 38H
§ 1 : 30 e o Ul AT o o faf e st sEe sifafen, 3R W (1977 3 1982
12 fiei % 2geq 3R Qs A = At 3R VO: max. (Ffa/fd.m./~maw) =1 geaes 12 e
Ugclel g aF h1 TS FA g H ITT Fd gC RAT| A qoArhA § I 9 o W o | Sl &
1 TUET HES: 92, 73 IR 62 AUT T H 80, 72 I 66 T | Tafk HAN hH TH TGl T 88 AW
& 84 oft| gue fafes, W, G, TS ST dier 9 12 foel & smsr: 1.750 e, 1.5 Hid, 1.250

HR 2.0 HidAr i gl 7 H|

The fitness index of Suresh and Peter will be :

1 67.43 and 63.47

(2) 68.81 and 64.94



3)
63.47 and 67.43

4 64.94 and 68.81
A 3 dIeT & TEra1 gerhieh 2
@ 67.43 3N 63.47

@ 68.81 31 64.94
@ 63.47 3 67.43

@ 64.94 3R 68.81

1[Option ID=20765]
2[Option ID=20766]
3[Option ID=20767]
4[Option ID=20768]

Sl. No.143
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Read the following passage and answer the questions.

Task was given to a physical Educator to evaluate the cardio vascular endurance of college
athelete. For it he conducted Harvard Step test and Cooper — 12-minute walk — running test.
For conducting Harvard test he took 20 — inch high bench and told the student to perform
stepping (Up-up-down-down), 30 times a minute, for 5 minutes. Exactly one minute after
stopping the exercise, the tester counted the pulse from 1 to 1:30, 2 to 2:30 and 3 to 3:30
minutes (three counts). But in some cases he adopted single pulse count method from 1 to
1:30 minutes. Further, he conducted Cooper (1977 and 1982) — 12 minutes walking and
running test and evaluated VO: max. (ml/kg/min) using the total distance covered by the
athletes in 12 minutes. In his evaluation he found three pulse count of Ramesh were 92, 73
and 62 and Suresh 80, 72 and 66. Whereas one pulse count of Manoj was 88 and Peter was
84. Further in Ramesh, Suresh, Manoj and Peter covered 1.750 miles, 1.5 miles, 1.250 miles
and 2.0 miles respectively in 12 minutes.

fr=ferfiaa ey = 9@ 3T gvi % I T

T TR e & stemush i wetfaene o vl 1 gg-atfeHl (FIfEA aTerReR) T & Hodisd |
1 |iaT 79T 91| 38 foTT 32 grels ®u 3 fw-12 fime &t T Stw smifea i gets Ry 2w
T 32 20~ 9 Sell = i 3 BT HI TH 9 H 30 IR H g¢ 5 e T T (319-379-375
SI3T) & I FgT| AW % THHE &4 & 31 Uk e a1g dwet gra A1t wug &t fd (verd &) i
18 1:30,282: 303 3F3: 30 fime oo (i ) fd gu) i 76| Al Fo ama ¥, 38H
# 1 : 30 e o Ut TIE-Trt S o TR o stoemEn sEes sfafh, S W (1977 3t 1982
12 fiei % 2geq 3R Qs R = At 3R VO: max. (Ffa/fd.m./~maw) =1 geaes 12 e
UgElel g aF T TS FA g0 1 ST Fd g RAT| AT HoATRA § I 9 R W o | TSl &
1 TUET SFE: 92, 73 SR 62 AT T H 80, 72 IR 66 | Salh HAN hHl Uk ISl M 88 M
1 84 oft| gue fafies, W, G, TAIS ST dier 9 12 foel & smsr: 1.750 e, 1.5 Hiw, 1.250
3R 2.0 i 1 gl T Hi|

The VO:2: Max of Suresh and Peter will be :

(1) 60.6546 and 42.669

(2) 62.6654 and 46.696

(3 46.696 and 66.54

(4)



42 669 and 60.6546
‘vﬁ&" 3R et % V02 Max g

™ 60.6546 3T 42.669
@ 62.6654 3 46.696
@ 46.696 3T 66.54

@ 42.669 37T 60.6546

1[Option ID=20769]
2[Option ID=20770]
3[Option ID=20771]
4[Option ID=20772]

Sl. No.144
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Read the following passage and answer the questions.

Task was given to a physical Educator to evaluate the cardio vascular endurance of college
athelete. For it he conducted Harvard Step test and Cooper — 12-minute walk — running test.
For conducting Harvard test he took 20 — inch high bench and told the student to perform
stepping (Up-up-down-down), 30 times a minute, for 5 minutes. Exactly one minute after
stopping the exercise, the tester counted the pulse from 1 to 1:30, 2 to 2:30 and 3 to 3:30
minutes (three counts). But in some cases he adopted single pulse count method from 1 to
1:30 minutes. Further, he conducted Cooper (1977 and 1982) — 12 minutes walking and
running test and evaluated VO2 max. (ml/kg/min) using the total distance covered by the
athletes in 12 minutes. In his evaluation he found three pulse count of Ramesh were 92, 73
and 62 and Suresh 80, 72 and 66. Whereas one pulse count of Manoj was 88 and Peter was
84. Further in Ramesh, Suresh, Manoj and Peter covered 1.750 miles, 1.5 miles, 1.250 miles
and 2.0 miles respectively in 12 minutes.

fr=ferfiga ey = 9@ 3T v % I T

T TR e & stemush i meifaene o vecliel 1 gg-drfel (FIfEa aTeReR) T o Jodisd |
1 |iaT 791 91| 38 foTT S gels ©u R Fw-12 fime |t T Sitw smifea ) gets Ry o
feTg 378 20- 39 Sell o4 il 3 SEI H T 2 § 30 IR Hd g¢ 5 e 0 R (319-319-3
SI3) & I Hgl| ST % THHE &4 & 3 Uk e a1g Swe gra A1t wg &t fd (ver ) i
18 1:30,282:303M 3¥ 3 : 30 fire 7% (9 aR fimd gu) 61 731 AfRA F© wmai |, I8
# 1 : 30 e o Ut TIE-Trt S o TR o stoemEn sEes sfafh, S W (1977 3t 1982
12 fiei % 2geq 3R Qs R = At W VO: max. (Efa/fe.an./~maw) =1 geaes 12 e
Uclel g aF hT TS FA g0 FH ST Fd g RAT| AT HoAhA § I 9 o e o | TSl &
1 TUET FHI: 92, 73 I 62 qAT T H 80, 72 IHR 66 T Falh TAN i Uk AL M 88 AW W
il 84 oft| 3u fafies, W, G, TS ST dier 9 12 el & smsr: 1.750 e, 1.5 Hiw, 1.250
3R 2.0 it i gl a7 i

Given below are two statements:

Statement (I) :  Fitness condition of Ramesh 1s better than Suresh.

Statement (IT) : Fitness condition of Manoj 1s better than Peter.

In the light of the above statements, choose the correct answer from the options given below:

) Both Statement (D) and Statement (IT) are true



2 Both Statement (I) and Statement (II) are false

3 Statement (I) is true but Statement (II) is false

@) Statement (I) is false but Statement (1I) is true

w94 (D) WY I T g I 2 (Fhed HEivH) T & 5 2
w9 (10) : IS <l T B <hi e et ¥ S'd 2l

3TITh A o ATAF |, Ard fou U fospeni # 9 |l I &1 9 i

@ o () 3 (1I) a1 a8
@ Y () IR (1) gH1 3= &
@ FYF (1) T 2, Ao %9 (1) 39 2

@ % (I) 39 2, ek HweF (1) T 3

1[Option ID=20773]
2[Option ID=20774]
3[Option ID=20775]

4[Option ID=20776]

Sl. No.145
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Read the following passage and answer the questions.

Task was given to a physical Educator to evaluate the cardio vascular endurance of college
athelete. For it he conducted Harvard Step test and Cooper — 12-minute walk — running test.
For conducting Harvard test he took 20 — inch high bench and told the student to perform
stepping (Up-up-down-down), 30 times a minute, for 5 minutes. Exactly one minute after
stopping the exercise, the tester counted the pulse from 1 to 1:30, 2 to 2:30 and 3 to 3:30
minutes (three counts). But in some cases he adopted single pulse count method from 1 to
1:30 minutes. Further, he conducted Cooper (1977 and 1982) — 12 minutes walking and
running test and evaluated VO2 max. (ml/kg/min) using the total distance covered by the
athletes in 12 minutes. In his evaluation he found three pulse count of Ramesh were 92, 73
and 62 and Suresh 80, 72 and 66. Whereas one pulse count of Manoj was 88 and Peter was
84. Further in Ramesh, Suresh, Manoj and Peter covered 1.750 miles, 1.5 miles, 1.250 miles
and 2.0 miles respectively in 12 minutes.

fafafiaa ey =1 e 3 I3+l & IW S

U IR e o A= 1 HElfdarer™ % UHeie] 1 gg-aledl (Feal Ireryer) a8 & Hodihd |
e Eiar T o) 3ok fore S wEie w3t - 12 fide @i i St smifa ) eEts w0 i
feTg 378 20- $9 Selt o4 il 3 BEI H T 2 § 30 I A gC 5 e o R (319-319-3
T13H) FH H FT| AW F GHH 84 F i U [He 18 36 gRI A1El Tg il i (verd 32) il
19 1:30,282: 303 3H3: 30 fre 7% (F9 aR Fd gQ) i 78| Ak $© wmal |, 3
" 1 : 30 e 9% wohal TEI-Tdt it oEr fafy w6t e sae sifafs, 3= W (1977 I 1982
12 faei % 2gaq 3R @ed R = At 3R VO: max. (fa/fe.m./~maw) =1 qeaes 12 e
ugefiel gra @ 1 T FA gl 1 SUAT Hd g THRATI AU HoATRA § I 9T TR W % @i At =
<l TUET HES: 92, 73 I 62 qUAT T H 80, 72 I 66 TE| Telfch HAN hi Tk ATt T 88 A i
&1 84 off| 3o fafes, wwr, g, 799 iR fex 7 12 el & s 1,750 #ia, 1.5 #id, 1.250
i 2.0 Hiei H g T Fi|

Arrange the VO: max of following in ascending sequence.

(A) Manoj
(B) Ramesh
(©) Suresh
(D) Peter

Choose the correct answer from the options given below :
@ D,BC A
@ C,A B,D
3 ACB,D

@ A BCD



frafafad % VO2 max 1 A0S 30 § o6

A) TN
(B) wwm

(C) g
D) d=

Fi feu U faereut @ O HE I W 9949 hifT

@ D,BC A
@ C,A B,D
3 A CBD
® A BCD

1[Option ID=20777]
2[Option ID=20778]
3[Option ID=20779]
4[Option ID=20780]
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Read the passage and answer questions.

Overweight is a State in which the weight exceeds a standard based on height. Obesity is a
condition of excessive fatness either generalized or localized. Body fat percentage is
determined by Deurenberg equation, if BMI, age and gender is known. Percentage of body fat
= (1.2 x BMI) + (0.23 x age in years) — (10.8 x G) — 5.4. In this equation the value of G is 1 for
male and zero for a female. A body fat percentage of 20% to 25% or more in a male and 25%
to 32% or more in a female 1s usually considered to be associated with metabolic and health
risk of obesity. In men 3% of body fat is essential, whereas in female it is 12%. An elite male
athlete have body fat as low as 2% to 5% and incase of female it is 10% to 13%.

Fafefaa ey w1 e 3N v % IW T
FAF I Ul 37T 2 TToH o5H oFars o SATUR W €110 A 9 311k &1 a1 g1 |igl &1 drd

Ay T AR 97 AR & A1 TAHR &, ¥ 3l Afe FHEn gomH guewh (f ww eTg), oy 3
forT S &1 o 0T S o Sferd 1 ST S wHieher | TR S 2|

riifees T@m &1 gfawa = (1.2 x SmaTs) + (0.23 x 3 % a9) — (10.8 x G) — 5.4| 30 FHHO | G =
A gEY % fou 1 3R Afgen & fou = 71 T H 20% ¥ 25% A1 359Y AT I STEh a9 gfowa H
afeet # 25% to 32% a1 3WE 3ifersk AT § wifes aw wfasra g ot g A wEn Sirar @ TR 9w g
igeT Wiemr o U R wERe Ged Sifew | ufEd g1 9N A 3% Wi 9| Afed ® wet
nfeersti # gaeht Afam " 12% 71 Rt Fefiv gew uwyefie & iR & a9 it 71 2% ¥ 5% 3R A
worefe o YR § @ i 9 10% ¥ 13% 2t 2

Jagdesh is a 42 yrs male with height 1.64m and weight his body 76 kg his body fat
percentage will be :

1 2214
(2) 27.37

3 25.32
4) 24.23



SEI 42 AT o & fEehl s 1.64 Hiex 3R 35 IR #9476 TR 2 A1 39 IR A 9 |
yfcrTa g

1 2214
(2) 27.37

3) 25.32
4) 24.23

1[Option ID=20781]
2[Option ID=20782]
3[Option ID=20783]
4[Option ID=20784]
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Read the passage and answer questions.

Overweight is a State in which the weight exceeds a standard based on height. Obesity is a
condition of excessive fatness either generalized or localized. Body fat percentage i1s
determined by Deurenberg equation, if BMI, age and gender is known. Percentage of body fat
= (1.2 x BMI) + (0.23 x age in years) — (10.8 x G) — 5.4. In this equation the value of G is 1 for
male and zero for a female. A body fat percentage of 20% to 25% or more in a male and 25%
to 32% or more in a female is usually considered to be associated with metabolic and health
risk of obesity. In men 3% of body fat is essential, whereas in female it is 12%. An elite male
athlete have body fat as low as 2% to 5% and incase of female it is 10% to 13%.

fafafiaa ey i g 3 T9Hi % IW @
FTcafies a9 UHT raEar @ frew a9 s & U W Efud e & S1fYes 1 STaT 2| HIST Sl ard

AcAfush TYAAT 9T I8 HHI=AEd & a1 $AHHA 8, ¥ 2| (G HE GoH gah (i W IE), Y A
fomT ST & ot R 3 =@ o foera o ST S SHieT & feher S )

s a@m &1 gfaea = (1.2 x SemaTs) + (0.23 x 3 % a9) — (10.8 x G) — 5.4| 390 FH0 | G =
O TEY % fore 1 3R Afgen & fu = 71 T H 20% ¥ 25% A1 I9Y AH I WAHER a9 qfowd H
afeet & 25% to 32% a1 3WE 3fesk AT § wdifes awn wfasra g ot g ® W Siar @ T 9w g
ige Wiem™r o U R ey gad wifew | ufed B 9N °§ 3% Rt 9| e @ wet
ufgeret | soehl AHad AT 12% 71 R FefiT qe wueliec % YRR § a9 i 5w 2% ¥ 5% IR Ai
worefie & R @ ) 76 10% ¥ 13% 2t 2|

Sunita is a 37 yrs female with body weight 72 kg and her height is 1.52 m, here body fat
percentage will be :

1 33.27
(2 40.51
3) 24.16

4 25.14

AT 37 adfta afgen 2 fme iR &1 asm 72 forctiom 8 3 okt oams 1,52 ©iex 2 af 35 WR § &
1 gfersrd grm
1) 33.27

2 40.51
3 24.16

4 25.14

1[Option ID=20785]
2[Option ID=20786]
3[Option ID=20787]
4[Option ID=20788]
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Read the passage and answer questions.

Overweight is a State in which the weight exceeds a standard based on height. Obesity is a
condition of excessive fatness either generalized or localized. Body fat percentage is
determined by Deurenberg equation, if BMI, age and gender is known. Percentage of body fat
= (1.2 x BMI) + (0.23 x age in years) — (10.8 x G) — 5.4. In this equation the value of G 1s 1 for
male and zero for a female. A body fat percentage of 20% to 25% or more in a male and 25%
to 32% or more in a female is usually considered to be associated with metabolic and health
risk of obesity. In men 3% of body fat is essential, whereas in female it 1s 12%. An elite male
athlete have body fat as low as 2% to 5% and incase of female it is 10% to 13%.

faferfad Tensr * u¢ 3 a3l & IW T
AR oo UHT 37aEyT g e o oS o STTUR 9T TG ek § 371Yek 8 SiTdT &1 HieT sl drd

AT T 918 98 AW & a1 TAHRd 2, | 2| A a1 5WH gaehih (1 T 115), o1g 3
forT Sma 31 IR H S o Sfrd S ST S wHieh | TR S gl

writfeas s 1 gfaera = (1.2 x SfeRsTs) + (0.23 x I & a9) — (10.8 x G) — 5.41 30 FHH0 | G ¢
A JEY o 7T 1 7R Afgen o 00 3 21 989 § 20% 8 25% I1 36E Aeh w1 ARITE a9 gfowd 3
afeet # 25% to 32% a1 3HE fersk AT § ik awn wfawra g ot g ® wEn Siar @ TR 9w g
Aiga W o U SR e Ged Sifew | 7fed g1 RN 3% R 9| Afed ' wet
afgensti ® saeht SAfHam am1 12% 2| fhedt Foft qew verefie & it § =@ i 3m 2% o 5% 31 6
ueelte % IR A =@ S AET 10% d 13% 2l )

Given below are two statements:

Statement (I) :  Sunita is not associated with metabolic and health risk of obesity.

Statement (II) : Jagdesh is associated with metabolic and health risk of obesity.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (II) are true

2 Both Statement (I) and Statement (II) are false

3 Statement (I) is true but Statement (II) is false

@) Statement (I) is false but Statement (1) is true

I 1 o fou o €
w97 (D) : gtar Hiemn % IuraeE SR T Sifas | e T8 )
w97 (1) : SHTETST /el & IuT=rl 37 ey Sifaq ¥ 7 2

3WITh A o 3Tl |, e feu U foeheut § ¥ 98 3T o 99 Hieu

@ e (1) 3 (1) 41 9 2
@ A () 3R (1) 21 316 8
@ & (1) G &, dfehd e (1) 36 2

4

' Fu (1) 318 3, AT Fo (1) 9 2



1[Option ID=20789]
2[Option ID=20790]
3[Option ID=20791]
4[Option ID=20792]
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Read the passage and answer questions.

Overweight is a State in which the weight exceeds a standard based on height. Obesity is a
condition of excessive fatness either generalized or localized. Body fat percentage i1s
determined by Deurenberg equation, if BMI, age and gender is known. Percentage of body fat
= (1.2 x BMI) + (0.23 x age in years) — (10.8 x G) — 5.4. In this equation the value of G is 1 for
male and zero for a female. A body fat percentage of 20% to 25% or more in a male and 25%
to 32% or more in a female is usually considered to be associated with metabolic and health
risk of obesity. In men 3% of body fat is essential, whereas in female it is 12%. An elite male
athlete have body fat as low as 2% to 5% and incase of female it is 10% to 13%.

fafafad ey e 3 a9l & IW Q@
HoAfesh a9 UHT gwen ® R aom owaTg & MU’ W T S O 3Afeeh g ST 21 Wit S aTe

AcAfush TYAAT 9T I8 HHI=AEd & a1 $AHHA 8, ¥ 2| (G HE GoH gah (i W IE), Y A
forT sma &1 o IR T S o Sfaerd 1 ST S weier | TR S g

s a@m &1 gfaea = (1.2 x SemaTs) + (0.23 x 3 % a9) — (10.8 x G) — 5.4| 390 FH0 | G =
oM TEY o fore 1 3R Afgen & fou Y= 31 T H 20% F 25% A1 I5F SA1h I SHTER a9 gfowa H
afeet & 25% to 32% a1 3WE 3fesk AT § wdifes awn wfasra g ot g ® W Siar @ T 9w g
iec WiemT o U R @Ry Ged Sifew | ufed 81 9N W 3% R 9| e § set
ufgeret | soehl AHad AT 12% 71 R FefiT qe wueliec % YRR § a9 i 5w 2% ¥ 5% IR Ai
worefie & R § =@ ) 76 10% ¥ 13% 2t 2|

(Given below are two statements:

Statement (I) :  In female the essential body fat is less than male.
Statement (II) :  Overweight is a State in which excessive fat is deposited either generalized
or localized form.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (II) are true

2 Both Statement (I) and Statement (IT) are false

3 Statement (I) is true but Statement (II) is false

@) Statement (I) is false but Statement (1I) is true

= 31 %o fGg e g

e () : Higerall H TEvash WIRIGR a9 il HET Geui il gorT § &H ardl &l

Fad (10) : rcaferes o UHT e @ e an a1 gmrey 8 e e Tum s 0 sty
@1 %1 f3g" | S )

IHIh A % ATAF H, A< fou U foepedi # & |l I 1 9 Hif



® e () 3 (ID) 3T He 2
@ e () 3 (I1I) AT WA 2
@ & (1) T &, dfohd %ad (1) 36 2

@ &I (1) 38T 8, Al Hed (1) T 2

1[Option ID=20793]
2[Option ID=20794]
3[Option ID=20795]
4[Option ID=20796]
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Read the passage and answer questions.

Overweight is a State in which the weight exceeds a standard based on height. Obesity i1s a
condition of excessive fatness either generalized or localized. Body fat percentage 1is
determined by Deurenberg equation, if BMI, age and gender is known. Percentage of body fat
= (1.2 x BMI) + (0.23 x age in years) — (10.8 x G) — 5.4. In this equation the value of G is 1 for
male and zero for a female. A body fat percentage of 20% to 25% or more in a male and 25%
to 32% or more in a female 1s usually considered to be associated with metabolic and health
risk of obesity. In men 3% of body fat is essential, whereas in female it is 12%. An elite male
athlete have body fat as low as 2% to 5% and incase of female it 1s 10% to 13%.

fr=ferfiaa ey =t v¢ 3T v % I T
FITIH a5 UHT 37T & STeH o5H oFars o SR 9 €419 /e § 31 g STdr 2| Jiel & i

AT YT =R I WHI=IE & AT TAHEA 8, ¥ 7| AG FHE G gEah (< w o), Ay
fomT ST & ot R 3 =@ o fewra S ST S SR § TR S )

Siifer =@ = gfawE = (1.2 x Sieaes) + (0.23 x 3R % a¥) — (10.8 x G) — 5.4 38 TR § G
o gEY % fou 1 o ufeen & e s 1 gEY " 20% ¥ 25% A1 3T A 1 AR a9 giava 3
afeem # 25% to 32% a1 3WE 3fek AT § wifes awn wfasra g ot g ® wEn Siar @ TR 9w g
nfeaT Wemn % U o TR gedi Sifiew @ ufed B W § 3% Wi @@ «ifed @ wef
nfgetteti 4 guehl Aam amn 12% 71 Bt Fefiv 9w wefic & YR & s9r i am 2% ¥ 5% IR A
wyefie % R H =@r & 9Er 10% 3 13% 2t 2|

Given below are two statements: Nelson is a male 34 yrs athlete with BMI 18, which of the

following statements in light of passage will be true :

Statement (I) :  Nelson is an elite athlete.

Statement (II) : Fat percentage of Nelson is between 2 to 5%.

In the light of the above statements, choose the correct answer from the options given below:

1) Both Statement (I) and Statement (I1) are true

2 Both Statement (I) and Statement (IT) are false

3 Statement (I) is true but Statement (II) is false

@) Statement (I) is false but Statement (II) is true
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1[Option ID=20797]
2[Option ID=20798]
3[Option ID=20799]
4[Option ID=20800]




